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1.

Which one of the following is the correct
electronic configuration of chlorine?

(@)2,7,8 (b)2,8,7
(c)2,8,8 (d)7,8,2

The number of valence electrons in the O
ion is:
(a) 4
(c)8

(b) 6
(d) 10

In honey, which one among the following
sugars predominates?

(b) Fructose
(d) Maltose

(a) Surcose

(c) Galactose

Within an animal cell, the most abunadant
inorganic constituent of protoplasm is:

(a) Sodium and potassium salt
(b) Water

(c) Iron

(d) Phosphate

During short-circuiting, the current flowing
in the electrical circuit

(a) Reduces substantially
(b) Does not change
(c) Increases instantaneously

(d) Vareis continuously

Two conducting wires A and B are made of
same matrial. If the length of B is twice that
of A and the radius of circular cross-section
of A is twice that of B, then their
resistanece R, and Ry are in the ratio:

(@2:1 (b)1:2
(c)1:8 d1:4

The number of aluminium ions present in
54 g of aluminium (atomic weight 27) is:

(a) 2 (b) 18
(c) 1.1x10%* (d) 1.2x10*

(2]

1.

SECTION-A
(MENTAL ABILITY)

ffaf@a & ¥ Fia-ur vF FadT w1 T
AT e 87
(@)2,7,8
(©2,8,8

0% AT H TWIASHAT FaFeE! T FE&AT
et &

(a) 4 (b) 6

()8 (d) 10

wee & Fmafaf@a & & sl @ T 9w

27

(a) A

(c) dreterere

(b)2,8,7
d)7,8,2

(b) T
(d) AT

frdY yToft FIRAFT F e Nagex & FaitF
agamﬁﬁmmmm%?

(a) A3 3R ArefRA"MH erqor
(b) Stet

(c) e

(d) ®IEhT

aguye & SR Ry aiwy & yaifka @
arelt amT

(a) ST TT AT &

(b) A&t seerar

(c) dcehTel d&dr &

(d) SRTAR Seordt &

& g1 drR A 3R B §HE i & I+ g
afy B # wwaré A # srard ¥ e § a
A & T ey TR=se & Bear & angEr
g, af 3a% gfaer R, 3R Ry fFa requra &
&7
(@2:1
(c)1:8

(b)y1:2
d1:4

54 g vqRAfags (WAC] AR 27) A favwAe
vt et fr wEdr w4 32

(a) 2 (b) 18

(c) 1.1x10* (d) 1.2x10*



10.

11.

12.

13.

14.

15.

The latest discovered state of matter is:
(a) Solid
(b) Bose-Einstein condensate

(c) Plasma (d) Liquid

What is ‘breakbone fever’ most commonly
known as?

(a) Typhoid
(c) Yellow Fever

(b) Rhinitis
(d) Dengue

After diagnosis of disease in a person, the
doctor advise the patient iron and folic acid
tablets. The person is suffering from

(a) Osteoporosis
(c) Goitre

(d) Protein energy mainutrition

(b) Anaemia

Which one among the following is the coral
group of islands of India?

(b) Nicobar
(d) Lakshadweep

(a) Andaman

(c) Minicoy

Van de Graaf generator is used for
(a) Accelerating charged particles
(b) Generatig large currents

(c) Generating electric field

(d) Generating high frequency voltage

The most stable form of carbon is :
(b) Graphite
(d) Coal

(a) Diamond
(c) Fullerent

Which one among the following is not a
sexually transmitted disease?

(a) Syphills (b) Gonorrhea
(c) Scurvey (d) Hepatitis B

The summer and winter season in a year
are caused by

(a) Aphelion (farthest) and perihelion (nearest)
postion of the Earth from the Sun during
the annual revolution

(b) Rotation of the earth on its axis
(c) Variation in solar insolation

(d) Revolution of the Earth on its inclined axis

10.

11.

12.

13.

14.

15.

(3]
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SECTION-B
(ENGLISH)

16.

17.

18.

19.

20.

21.

22,

23.

24.

Choose the correct synonym of the given
word from the option given below.
DEPOSITION
(a) Ascent

(c) Impeachment

(b) Employment
(d) Coronation

Choose the best antonym of the given word
from the options given below.

EQUIVALENT
(a) Comparable (b) Dissimilar
(c) Parallel (d) Identical

Choose the best antonym of the given word
from the options given below
CONTROVERSY

(a) Argument (b) Difference

(c) Agreement (d) Quarrel

Choose the MISSPELT word.
(a) Preservence (b) Possession
(c) Reference (d) Restarant

Choose tge MISSPELT word.
(a) Abundance (b) Absence
(c) Acclaim (d) Advertisement

Complete the sentence with the most
appropriate word. Students are not
expected to leave without .
(a) Tolerance (b) Indulgence
(c) Permission (d) Freedom

Complete the sentence with the most

appropriate word. I always arrive to class
twenty minutes so that I have
time to prepare.

(a) Late (b) Early

(c) Later (b) Behind time

Complete the sentence with the most
appropriate word. Making pies and cakes
Mrs. Kumar’s specially

(b) Is

(d) Are being

(a) Have
(c) Has

The following sentence is divided into four
parts (P, Q, R and S). Rearrange it in the
proper sequence in order to make a
meaningful sentence. (P) or car racing tests
(Q) And a car’s power (R) Automobile
racing (S) Both a driver’s skill

(a) RPSQ (b) QPSR

(c) RSPQ (d) SQPR

25.

26.

27.

28.

29.

30.

(4]

The following sentence is divided into four
parts (P, Q, R and S). Rearrnage it in the
proper sequence in order to make a
meaningful sentence (P) That is closely
related to the peach tree (Q) Almonds are
commonly called nuts (R) But they are
actually seeds (S) And they come from a
tree

(a) RPSQ
(c) SQPR

(b) QRSP
(d) SQPS

Choose from the four options, the word
that best defines/substitues the given
phrase. “A place where ships load and

upload goods”
(a) Port (b) Terminal
(c) Coach (d) Hangar

Choose from the four options, the word
that best defines/substitues the given
phrase. “The scientific study of the mind”
(a) Philology (b) Psychology

(c) Sociology (d) Anthropology

Choose from the four options, the word
that best defines/substitues the given
phrase. “A person or animal that eats all
kinds of food”
(a) Omnivorous
(c) Insectivorous

(b) Herbivorous
(d) Carnivorous

In the following question, some part of the
sentence may have errors. Find out which
part of the sentence has an error and select
the appropriate option. If a sentence is free
from error, select 'No Error'.

Soon as he (A)/saw the policeman, (B)/he
ran away, (C)/No error, (D) Option

(a) A (b)B

() C (dD

Rearrange the parts of the sentence in
correct order.

We are told that its

P-Public Distribution System
Q-creating a functional

R-sole purpose is the noble goal of

(a) QRP (b) RQP

(c) PRQ (d) PQR



SECTION-C
(PHYSICS)

31.

32.

33.

34.

3s.

Pe

A planet in a distant solar system is 10 times
more massive than the earth and its radius is
10 times smaller. Given that the escape
velocity from the earth is 11 kms ' the
escape velocity from the surface of the planet
would be:

(a) 1.1 kms ™'
(c) 110 kms ™'

(b) 11 kms !
(d)0.11 kms ™"

A body of mass m = 3.513 kg is moving along
then x-axis with a speed of 5.00 ms . The
magnitude of its momentum is recorded as

(a) 17.6 kg ms (b) 17.565 kg ms ™"
(c) 17.56 kg ms ™' (d)17.57 kg ms "

An athlete in the Olympic game covers a
distance of 100 m in 10 sec. His Kinetic
energy can be estimated to be in the range

(2) 2007 — 500 (b) 2x10°J —3x10°J
(c) 20,000 J —50,000J  (d) 2,000 J — 5,000 J

Two full turns of the circular scale of a screw
gauge cover a distance of 1 mm on its main
scale. The total number of division on the
circular scale is 50. Further, it is found that
the screw gauge has a zero error of -0.003
mm. While measuring the diameter of a thin
wire, a student notes the main scale reading
of 3 mm and the number of circular scale
divisions in line with the main scale as 35.
The diameter of the wire is:

(a) 3.32 mm (b) 3.73 mm
(c) 3.67 mm (d) 3.38 mm

A cell has terminal voltage 2V in open circuit
and internal resistance of the given cell is 2Q
. If 4A of current is flowing between points P
and Q in the circuit and then the potential
difference between P and Q is

2V, 20
|
e \/ \/ \/ \/ \/ \—QQ
A |1 %0
(a) 30V (b) 26V
(c) 22V (d) 24V

(5]

31

32.

33.

34

35.

. TF ¥ WRAVSH &1 TF g qedt Y Jolerr J
10 @7 1Y & U1 swAr B 10 I F4 3
I gedft & gare 3w 11 FAR @ o 39 Tw
¥ qeas 397 Rraar ghem?

(a) 1.1 frefrar (b) 11 et
(c) 110 frall/&r (d) 0.11 frel/d

F IE] fHeHT geaAe m = 3.513 fFarm @, x-
a7 & regfeer 5.00 @ ¥ F v ¥ AfAy W

W ¥ | s9F G F1 o ¥

(a) 17.6 fFam #r @' (b) 17.565 fpam #r @~

(c) 17.56 fram & ¥ (d) 17.57 foram & @

MNafras @ & v @arEt 10 s 7 100 =
gt @ a1 | 3wh wfaer 391 fAmafaf@a
fre yaR & g awd §7

(a) 200 — 500 ST (b) 2% 10° - 3x 10’3
(c) 20,000 — 50,000 ST (d) 2,000 — 5,000 et

tE YA & MY A F & Oof g9,
& YA X Fo s F wEAr 50 P GEATR
# -0.003 et i qf AT oI § | v
Jdd dR HT A AG §AY TH SF AEY
Y #1 o 3 AHA aur AR YA &+
3537 faeeg 7ET daw & foelt R oy W
AT FI@T §| TR F AW ¥

(a) 3.32 fA#Y (b) 3.73 fA=AT
(c) 3.67 fA#Y (d) 3.38 fA=AT

ga aRuy & o A« A AA A aeear 2V @
agT Ru v A &1 Al gfaw 20 g Iy
4A $1 4rT g3 P dUT Q % F7ew aRuw A

7% W § Regat P qu1 Q ¥ Aoy fvraer §

2|V, 20

, L /\ /\ /\ /\ /\

P@ )

an |l v Q
(a) 30V (b) 26V
(c) 22V (d) 24V



36.

37.

38.

39.

40.

41.

A proton and an alpha particle both are
accelerated through the same potential
difference. The ratio of corresponding de-
Brogile wavelength is:

(b) \2

(a)2
(d) L

242
© 22 D

Laser light has following property

(a) Laser light is white light

(b) Laser light is highly coherent

(c) Laser light always lies in X-rays region
(d) Laser light does not have directionality
property

A particle is moving in translatory motion. If
momentum of the particle decreases by 10%,
kinetic energy will decrease by

(a) 20% (b) 19%
(c) 10% (d) 5%

Which of the statement is incorrect about the
simple microscope?

(a) Magnification of microscope is inversely
proportional to the least distance of distinct
vision.

(b) A convex lens of microscope with shorter
focal length yields higher magnification

(c) Biology students use to see the slides

(d) It is not used for magnification of an object
at far away from the observer.

Surface tension of the liquid is S. Work done
in increasing the radius of soap bubble from

R to 3R at given temperature will be
(a) 87SR* (b) 167SR*

2
(c) 647SR @) 87 ; R

Suppose you drive to Delhi (200 km away) at
400 km/hr and return at 200 km/hr. what is
yours average speed for the entire trip?

(a) Zero (b) 300 km/hr
(c) Less than 300 km/hr
(d) More than 300 km/hr

(6]

36.

37.

38.

39.

40.

41.

U WA UG U Wl HUT il H JAT
fsrarax qarT caRa fFam Smar @) 39 |9

31 Fel Y T T @
(a) 2 (b) 2
1
24/2 d) —
(©) 242 ()2\5

AN yanr fAFeT a[or T §

(a) SIS Yehler <& gl &

(b) SIS YHTeT HcATIF FHellaFag aiam &

(C) oIS TehTar §HLT Targ fohoT &1F H giar g
(d) SR Yehrer & feRlcAsh 0T ¢l g &

TF HUT FITAROT AT FT T@T §| IR FHor &
AT 10% UedT § ar sHh fas 39T g
(a) 20% (b) 19%

(c) 10% (d) 5%

HTUROT (W) GaAeelt & ar & Fia-a1 Fya
| 8?2

(a)geHcel @ 3mate ey (vose) Tt
“geTaH AT & GohAEII glcl §

(b) g&HERM & A BlhA gl & 3cdd o 4
31 3maels uredT giar &

(c) ST faaeT & faureft Tomss & @ & FH
Hod g

(d) %&Th & oY Fua a&g & 3ada & fov g
3T F ALY AT &

TS gd 1 Y3 dara S g felt Ru arv ar w
TF WG F gaqa F AR § 3R @ #
forar I S g

(a) 87SR> (b) 167SR?
2
(c) 647SR> (d) 18”35R

Ig AT fF 3maer 200 km g¥ el w400
km/hr & ST § 9T 200 km/hr & dtear 3
9% 39 g Y itwa =rer T AAfi?

(a) T (b) 300 km/hr

(c) 300 km/hr & &

(d) 300 km/hr & 310



42.

43.

44.

45.

46.

47.

A system undergoes a reversible adiabatic

process. The entropy of the system
(a) Increases (b) Decreases
(c) Remains constant

(d) May increase or may decreases

A narrow white light beam fails to converge
at a point after going through a converging
lens. This defect is known as

(a) Polarization

(b) Spherical aberration
(c) Chromatic aberration
(d) Diffraction

A student’s 9.0 V, 7.5W portable radio was
left on from 9:00 P.M. until 3:00 A.M. How
much charge passed through the wires?

(a) 6000 C (b) 12000 C
(c) 18000 C (d) 24000 C

Which of the following material has lowest
resistivity?

(b) Silver

(d) Copper

(a) Constantan

(c) Manganin

A sound wave is generated by the howl of a
wolf in the night. How would we describe the
motion of a particular air molecule near the
ground, a mile away from the wolf, on
average (i.e. ignoring the random wandering
of gas molecules)?

(a) It moves up and down in an oscillating
fashion

(b) It moves aay from the wolf at the speed of
sound

(c)It moves back and forth (oscillating) towards
the wolf

(d) It moves in the horizontal circle.

A 3kg objects has initial velocity (6; -2 j)
m/s. The toal work done on the object if its
velocity changes to (8; -4j ) m/s is:

(a) 60J
(c) 2161

(b) 120J
(d) 44

(7]

42,

43.

44,

45.

46.

47.

T AR tH IHATOT PUH THA § el
2 s Y vadt (ENTROPY)

(a) Sl (b) =eafy
(c) 3R @er & (d) §¢ IT °C T &

T qd YT HOT 0T v AfREY oW &
oA & 7RI U & g W affaia @ &
3G Bt § IE AW T Fgenar §

(a) gaoT (b) e s
(c) aufia fagaa (d) faadeT

TH oF &1 9.0V ud 7.5W &1 T IWE==AT 9:00
P.M. & 3:00 AM. a&F =T TgaT § af ar”

GaRT foFeielT 3Taer varfee gam?
(a) 6000 C (b) 12000 C
(c) 18000 C (d) 24000 C

T & ¥ 999 &7 gfA0uSar arer g §
(a) FrEEA (b) =Y
(c) HIGAT CIGIEL

T AfRY H Asr AT gErT U F vE eafy
@ 30T &1 ATt § (F8T Aw st F
AEEH HACT HY IYET F gO) AT F
e g7 gl W P o gar & wor #r afq
3taa ¥ § e yeR wgRia ghf?

(@) Ig IW AT TH alolell &7 H aIfd
(b) TF AfFY ¥ T A RE eafy & I
aif e

(c) I Afsy N TF 30T NS (Qreret) a1fad
HLET

(d) IE T &ifdst g # a1l +ar ©

T 3kg H ¥ HT IRFHF T (62—2j)m/s.
%|uﬁa1-cgana-ar(8§—4j)m/sg’rm%aﬂ
d% avq W a1 a1 o F& g

(a) 60J (b) 1207
(c) 21617 (d) 44



48.

49.

50.

<«—20 cm—>»

An incompressible non viscous fluid flows
steadily through a cylindrical pipe which has
radius 2R at point A and radius R at point B
farther along the flow direction. If the
velocity of the fluid at point A is V, its
velocity at the point B will be:

(a) 2V bV
(c) V/2 (d) 4V

A force F = 75N is applied on a block of mass
Skg along the fixed smooth incline as shown
in figure. Here gravitational acceleration g =
10m/s’. The acceleration of the block is:

O

30

(@ 5 ﬂz downwards the incline
s

(b) 5 ﬂz upwards the incline
s

(c) 10 ﬂz downwards the incline
s

(d) 10 ﬁz upwards the incline
S

Shown in the figure adjacent is a meter —
bridge aet up with null deflection in the
galvanometer. The value of the unkown

resistor R is:

55Q R
— \ NV

| | o O
(a) 13.750Q (b) 2200
(c) 110Q (d)55Q

(8]

48.

49.

50.

TH HENTT I 59 UF Jolahd T & &
ad 9 & qF @1 8| F9F qerd Y o F
Fregfeer fig A oX ar$w it Brsar 2R ¢ aur g3
yarg i fGar F gy B g w0 aiy A B
R 2 ar g B W g &7 397 A1 grm?

(a) 2V (b)V

(c) V72 (d) 4V

T a8 F = 75N & 5kg GO & sl U
R R R 7d a & srefeer waman
ST §] F8T T T g = 10m/s’§ saiw
FT T g

(a) 55 d e & 3feer A9 @ 3R
S

m

(b) 5=
S

A Tl & e FW HT 3N

() 1025 a0 aa & e A 7 3%
S

m

() 10=
S

A Tel & el FW HT IV

e & ve #ier A suor wefda & et
R e faeta Rufa & ) arema wfoder

R&T AT
550 R

<20 cm —>»

O O

(b) 22002
(d)55Q

(a) 13.75Q
(c) 11022



SECTION-D
(CHEMISTRY)

51.

52,

53.

54.

SS.

56.

57.

The decreasing order of electron affinity
is:

@F>Cl>Br>1
©I>Br>CI>F

(b)CI>F>Br>1
(dBr>Cl>F>1

The isomerism exhibited by following
compounds [Co (NH,), ] [Cr (CN), ] and

[Cr(NH3 )J[Cr(CN)J is:
(a) Linkage isomerism
(b) Coordination isomerism

(c) Ionization isomerization

(d) Polymerisation isomerism

For the reaction

250, + O, (excess) — 2SO, the order of
reaction with respect to O; is

(a) Zero (b) One

(c) Two (d) Three

Friedel — Craft reaction is not related

with:
(a) Sulphonation (b) Nitration

(c) Acylation (d) Reduction

Milk is an emulsion in which:
(a) Milk fat s dispersed in water
(b) A solid is dispersed in water
(c) A gas is dispersed in water

(d) Lactose is dispersed in water

Micelles are:

(a) Gel

(b) Associated colloids
(c) Adsorbed catalyst
(d) Ideal solution

For a non-volatile solute:
(a) Vapour pressure of solute is zero
(b) Vapour pressure of solvent is zero

(c) Vapour pressure of solution is more than
vapour pressure of solvent

(d) All of the options

(9]

S1.

52.

53.

54.

55.

56.

57.

SAFCIA ITCHITAT (FEAT) FT Tl §I;T FH
3

@F>ClI>Br>1 ®O)CI>F>Br>1
(c)I>Br>Cl>F (d)Br>CI>F>1
R 2R Co(NH, ), |[Cr(CN), ]
aur | Cr(NH,), || Cr(CN), |gam
FATETAT Yeiid & W@ -

(a) I HATGIAT

b) 3UTgHASTT FATAIAT

(
(c) IATTTT FHTIIA
(

d) qg«cﬁlehwl AT

FfAfFar 2S0, +0, (excess) - 2SO0, &
faw 0, & weget (wmdey) & 3fAfFar
T 7

(a) = (b) TH
(c) ar (d) T
Pea-wve AATFAT Frafaf@a & @
wFafa 78t 8

(a) TBITIhIOT (b) FATSEIHIOT
(c) ufafereor (d) 39TTeT

gy wF 9w ¢ oA

(a) QU T TET T STl # IREIVT El &
(b) TF B HT SToT H IREIIUT I{T ¢
(c) T T F T A IR&9or | §
(d) dFST T STl H IREIIOT T{T &

e

(a) Stef (b) TEIRY Press
(c) HAMPT 3P (d) e e
s areafier R{eT & o

(a) Taold 1 AU YT BT &

(b) Taremaeh T arsuere Y gl &

(c) faerae &1 arsyere fdeaes & arsde o
3o g &

(d) ¥ v T3l fawred TET &
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58.

59.

60.

61.

62.

63.

Which one is not the property of
crystalline solid?

(a) Isotropic
(b) Sharp melting point
(c) A definite and regular geometry

(d) High intermolecular forces

The number of ione pair(s) of electrons
on the central atom in [BrF,| ,XeF,and

[SbCl, ] are, respectively

(a)2,0and 1 (b)1,0and O
(¢)2,1 and 1 (d)2,1and 0

When Gringnard reagent with ketone it
yields

(a) 1° alcohol
(c) 3° alcohol

(b) 2° alcohol
(d) Ethanol

Formula of Bleaching powder is:
(a) CCI,CHO (b) CaOCl,

(c) Ca(OH), (d) CHCI,

The geometry around the central atom in
CIF; is

(a) square planar

(b) square pyramidal

(c) octahedral

(d) trigonal bipyramidal

Among the following, the equilibrium
which is NOT affected by an increase in
pressure is

(a) 280, (g)e=250,(2)+0,(g)
(b) H,(g)+1,(s)==—=2HI(g)
(c) C(s)+H,0(g)e==CO(g)+H, (g)

(d) 3Fe(s)+4H,0(g)—=Fe,0, (s)+4H, (g)

[10]

58.

59.

60.

61.

62.

63.

Flerar v frreea 3t 1 aor A 82
(a) THCRS

(b) cheor AR faeg

(c) AR vd afAa safad

(d) 3% HecRIT0ad Fof

[BrE,] ,XeF, @1 [SbCL,|” & $=h7
TAT] TR THH gAF IAT A dEar ¥
SHHATA:

(@) 2, 0 T 1 (b) 1,0 @0

(c)2,1aurl (d)2,1dar0

I9 s affsdAs fea @ aAfFar

AT & @ e @ ¥ -

(a) 1° Tewhiger (b) 2° Toelgel
(c) 3° Ucolger (d) TdeArer
selifer sy &1 9§ &

(a) CCI,CHO (b) CaOCl,
(c) Ca(OH), (d) CHCl,

CIF; & =/ WA} ¥ 9R1 3R safafa
¥

(a) T FAdA

(b) T RufafsT

(c) 3rSTHerhI

(d) P Rufafsa

T e W AT & @ &l 11 9y
TR oTdl T &

() 250, (g)==2S0, (g)+0, (g)
(b) H, (g)+1, (s)==2HI(g)
(c) C(s)+H,0(g)e===CO(g)+H, (g)

(d) 3Fe(s)+4H,0(g)e——Fe,0, (s)+4H, (g)

11



64. In the manufacture of ammonia by
Haber’s process

N, (g)+3H, (g)——=2NH,(g)+92.3kJ

Which of the following condition is
unfavourable?

(a) Increasing the temperature

(b) Increasing the pressure

(c) Reducing the temperature

(d) Removing ammonia as it is formed

65. What is pH of 2x10® molar HCI

solution?

Here log2 = 0.301 and log3 = 0.477
(a)5.4 (b) 7.7

(c) 6.92 (d)9.5

66. What will happen if a cell is placed into
0.4% (mass/volume) NaCl solution:-

(a) Cell will swell

(b) Cell will shrink

(c) There will be no change in cell volume
(d) Cell will dissolve

67. When a liquid that is immiscible with
water was steam distilled at 95.2°C at a
total pressure of 99.652 KPa. The
distillate contained 1.27 gm of the liquid
per gram of water. What will be molar
mass of liquid if the vapour pressure of
water is 85.140 KPa at 95.2°C?

(a) 134.1 gm mol™!
(b) 105.74 gm mol™
() 99.65 gm mol™
(d) 18 gm mol’

68. Which one of the following is not a unit of

energy?
(a) Nm (b) kg ms™
(c) lit-atm (d) kg m%s™

64. & S & qERT o & Foor o
N, (g)+3H, (g)c—2NH,(g) +92.3kJ
foer # & #l o o e §2
(a) 9 s&T (b) T & e
(c) a9 &r "gear
(d) 3T & AT & T S e

65. 2x10* @R HCI fAeas $r pH Fa1 ghit?
gl log2 = 0.301 vg log3 = 0.477

(a) 5.4 (b) 7.7
(c) 6.92 (d)9.5

66. T gaT § AT vH FIF F 0.4%
(gegaTe / 3mgaeT) NaCl feasr & @r rar
¥4
(a) IfeT B greft
(b) =T s SN
(c) AP & JITT H HIg IRTdA AGT
g
(d) AT e & SRl

67. TF gd it o & JPsT & o9 3mwaer
95.2°C W 41 Fel g 99.652 KPa W
fhar o | A & S F YRS AT FAY
%a &1 1.27 gm 3ufeya §| I ster &7
asuer 95.2°C 9T 85.140 KPa 8, ga &1
AR GSTATT FAT gRM?

(a) 134.1 gm mol™
(b) 105.74 gm mol™
() 99.65 gm mol’!
(d) 18 gm mol’!

68. et A & FleT HY FaAT T FHE AGT 872
(a) Nm (b) kg ms~
(c) lit-atm (d) kg m?s™

[11]
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Cl CHs
69. Compound \ / has the
P
H C:Hs

following prefix

(a) E
(c) trans

b Z
(d) Anti

70. The structure of carboxylate ion id best
represented as:

O 0]
(@ —C

6o. um \._ . wfw
H 4 \CZHs
qaet §
(a) E (b)Z
(c) e (d) T
70. FEfFEAT IIT Y FWHAT FT GGG IH<ST
fawaor - ~
O
(a) ’ (b) C/
a) —(C —
No~ \\o

SECTION-E
(MATHEMATICS)

71. The sum of an ifinite GP is x and the
common ratio r is such that |r| < 1. If the
first term of the GP is 2, then which one of
the following is correct?

(a) —1<x<1 (b) o< x<1

(c) I<x< (d) None of the above

72. A box contains 3 white and 2 black balls.
Two balls are drawn at random one after
the other. If the balls are not replaced,
what is the probability that both the balls

are black?
(a) 2/5 (b) 1/5
(c) 1/10 (d) None of the above

73. For two variables x and y the two
regression coefficient are b, =-3/2and
b,. =—1/6. The correlation coefiicient

between x and y is:

(a)-1/4 (b) Ya

(c)-172 (d) Y2

71. TF Hdd GP T A6 x § AR AT
r ¥ g @ r| <1 8| IRGP F1 guww v 2
g @ AefRa & @ #l9 a1 e @@ &2

(a) -1<x<l1 (b) —o<x<1

(d) 39 # ¥ HIS 7L
72.U% S8 & 3 Whe 3T 2 Freh 3G @ o A
TRREFAT T F 91g TF AFe) St B

(c) I<x<o

Ifg el & FTe g i TRwar FaT 372
(a) 2/5 (b) 1/5
(c) 1/10 (d) 3T 7 ¥ IS G

73. &Y W x AR y & AT & FoPAE TUTIH
b,=-3/23R b, =-1/6.3 x 3Ry &
(a) -1/4
(©)-1/2

(b) Y
(d) Y2

[12]
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74.

75.

76.

77.

78.

79.

80.

What is the mean of the squares of the
first 20 natural numbers?

(a) 151.5 (b) 143.5
(c) 65 (d) 72

p, q, I, S, t are numbers such that the
average of p, q and r is 5 and that of s and
t is 10. What is the average of all the five
numbers?

(a) 7.75
()7

(b) 7.5
(d)>5

The cumulative frequency of the largest
observed value must always be:

(a) Less than the total number of observation

(b) Greater than the total number of
observation

(c) Equal to total number of observation

(d) Equal to mid-point of the last class
interval

It has been found that if A and B play a
game 12 times, A wins 6 times, B wins 4
times and they draw twice. A and B take
part in a series of 3 games. The
probability that they win alternately, is:

(a) 5/12 (b) 5/36
(c) 19727 (d) 5/27

Out of 7 constant and 4 vowels, words are
to be formed by involving 3 constants and
2 vowels. The number of such words
formed is:

(a) 25200
(c) 10080

(b) 22500
(d) 5040

How many different words can be formed
by taking four letters out of the letters of
the word ‘AGAIN’ if each word has to
start with A?

(a) 6 (b) 12
(c)24 (d) None of the above
X

What is lim —— equal to?

=0 \[1—cos x 1
() \2 (b) 2

1
(c) —= (d) Limit does not exist
2

[13]

74.

75.

76.

77.

78.

79.

80.

YA 20 eIl HEAT F FAT FT AT FAT
87

(a) 151.5
(c) 65

(b) 143.5
(d) 72

99 &AW p, q, 1,5, t§ 39 9FR & p, q
it r &1 3itwa 5 &, 3iF s skt sitwa 10
2| Tsit uiet et & sitaa = @7

(a) 7.75 (b) 7.5

(©)7 (d)5

¥edd IfAd A A TN IRIRaT g F4T
gt =fee?

(a) S&TOT T Fol FEAT H FA

(b) SeTot 1 For FEAT ¥ HRH

() SErot Hr Foor TEAT & W

(d) 3T a9 e ¥ FeARg &

IRAINRBFE AT 12 IR Wed &, @ T§
9T ST § fF A, 6 9 sfiaar ¥, B, 4 9R
shaar ¥ 3k & IR arfaoifa e &) A 3k
B, 3 @a A sj@er # frFar AQ B 3%
T-ar ¥ shaa A wlRwar Far 32

(a) 5/12 (b) 5/36

(c) 19/27 (d) 5/27

7 gl 3T 4 TRI A @ 3 s¥oral AR 2
Tl H AT s T §] TH IFR qoF
ArsGl Y TEAT FAT 87
(a) 25200

(c) 10080

(b) 22500
(d) 5040

e ‘AGAIN’ & 3reTY & & 4 378/ AT
frasr RAffe=r e T4 ST ¥Fa &, I
TAF Mg A ¥ TR g?

(@) 6 (b) 12

(c) 24 (d) 3UgeFT H & HIS 76
. X

o T cosx 9% qea &7

(a) \2 (b) —2

(c) % (d) T &1 3fedca G &
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81. From an aeroplane above a straight road
the angles of depression of two positions at
a distance 20m apart on the road are
observed to be 30° and 45°. The height of
the aeroplane above the ground is:

(a) 1043 m (b) 10(\/5—1) m
() 10(J§+1) (d) 20m

1+sinA 1-sinA
1-sinA  1+sinA
(a) sec A-tan A

(b) 2sec A.tan A

(c) 4sec A.tan A

(d) 4cosec A.cot A

82. What is equal to?

What is j. "

0

83.

e equal to?
+x

(a) e% -1 (b) ei +1
(c)e—1 (de

84. What is the slope of the tangent to the

curve y=sin"’ (sin2 x) atx=10?

(a)0 (b) 1
()2 (d) none of the above

85. Itis given that the events A and B are

such thatp(A) =%,P(%j = %andP(%) =§.

Then P (B) is

1 1
(a) g (b) 5
2 1
(© g (d) 5

86. The first two terms of a geometric
progression add upto 12. The sum of the
third and the fourth terms is 48. If the
terms of the geometric progression are
alternately positive and negative, then the

first term is
(a)—4
(c) 12

(b)—12
(d) 4

[14]

81.

82.

83.

84.

85.

86.

TH @t % & I TH gars e § 39
WSH 9 20m YUF & TAEI & HITHAA HIT
30° 3T 45° 9ferT R I @ ST F FE
§ATS SETS 1 FATS FAT 82

(a) 1043 m (b) 10(J§—1)m
(©) 10(\/§+1) (d) 20m

1+sinA 1-sinA

- fFad ToT &7
1-sinA 1+sinA >

(a) sec A-tan A

(b) 2sec A.tan A
(c) 4sec A.tan A
(d) 4cosec A.cot A

1 tan'x
¢ fxﬁmﬂ;gw%?
0 1+x
(a) e* —1 (b) e* +1
(c)e—1 (de

X =09 I y=sin’l(sin2 x)a? waeft &

YaurdT F4T 87
(@) 0 (b) 1
(c)2 (d) 39T H § IS 76T

A USATT A T B 5 YR § T

P(A):%,P[%j:%andP(§j=§ a9 P(B)
FT AT T
1 1
- b) =
(a) p (b) 3
2 1
(©) g (d) E

oitea’ Aot & gUH &Y ga&l F1 Fr 12 g
ey Tur 9iY g FT Arwa 48 B IR
Toice AN &F e FA H gaTcHs qur
HOTHF ¢, a9 TUH 95 ¢

(a)—4 (b)— 12

(©) 12 (d) 4
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87.

88.

89.

90.

AB is a vertical pole with B at the ground
level and A at the top. A man finds that
the angle of elevation of the point A from
a certain point C on the ground is 60°. He
moves away from the pole along the line
BC to a point D such that CD = 7m. From
D, the angle of elevation of the point A is
45°. Then the height of the pole is:

73 .
2(\/5—1)
(b) %(\/’g+l)m
(c) %(ﬁ—l)m
7B 1
T(«/?Hjm

(a)

(d)

A die is thrown. Let A be the events that
the number onbtained is greater than 3,
Let B be the event that the number

obtained is less than 5. Then, P(A UB)is

3
(a) 5 ()0
2
1 z
(©) (d) 5

How many different words can be
formed by jumbling the letters in the
word MISSISSIPPI in which no two S
are adjacent?

(a) 8.°C,. 'C,
(b) 6.7. °C,
(c) 6.8. 'C,
) 6. °C, °C,

Let a, b, ¢ be any real numbers. Suppose
that there are real numbers x, y, z not all
zero such that x =cy + bz, y = az + cx
and

z=bx + ay

Then a® +b* +c* +2abc is equal to
(a) 2 (b)—1

()0 (d) 1

[15]

87. AB TF 3taltR ¥aew ¥ fSwd B 3muR Reg

88.

89.

90.

aur A oY 3| v afeT gar & & 3mur
W ya v faftaa fieg C @ ofid A &1
et P07 60° & 98 afFa @1 BC &
e FaFH ¥ g g D aF 39 Y&
St § FCD =7m § feg A T Fowraer
FIOT 45° ¥ a« TAFH & FAS B

73
2(J§—1)m
(b)%(ﬁJrl)m
<c>¥(ﬁ—1)m

YNEYE
d_
@7 (x/gﬂjm
TFH 9T el SATAT 8] AT A, 3 ¥ IA¥*
AT FA A U ¢ a4 B, 5 T A

HEAT 9o A A "gear §] a9, P(A B)
FT AT E

3
- b) 0
(a)5 (b)

(a)

2
1 z
(c) (d) 5

ersg MISSISSIPPI & 3wt Y got: Tifya
& fhda eg qA1C o T ¥, s #1
& S |eled o §?

(a) 8.°C,. 'C,

(b) 6.7. °C,

(c) 6.8. 'C,

(d) 6. °C, °C,

AWT a, b, ¢ A TFAAF FEIT | AT
IrEdfa® FEAT X, y, z (T T A€ §)
9 YFR § T x=cy + bz, y = az + cx a4T
z=bx +ay, d9a’ +b* +c’ +2abc F1 A
8?7

(a) 2 b)—1

©0 (d) 1
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Rough Work
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1.

The summer and winter season in a year
are caused by

(a) Aphelion (farthest) and perihelion (nearest)
postion of the Earth from the Sun during
the annual revolution

(b) Rotation of the earth on its axis
(¢) Variation in solar insolation

(d) Revolution of the Earth on its inclined axis

The number of valence electrons in the O
ion is:

(a) 4 (b) 6

(c)8 (d) 10

The latest discovered state of matter is:
(a) Solid

(b) Bose-Einstein condensate

(c) Plasma (d) Liquid

Within an animal cell, the most abunadant
inorganic constituent of protoplasm is:

(a) Sodium and potassium salt
(b) Water

(c) Iron

(d) Phosphate

Which one of the following is the correct
electronic configuration of chlorine?

(@)2,7,8 (b)2,8,7
(c)2,8,8 (d)7,8,2

Two conducting wires A and B are made of
same matrial. If the length of B is twice that
of A and the radius of circular cross-section
of A is twice that of B, then their
resistanece R, and Rp are in the ratio:
(@2:1 (b)1:2

(c)1:8 d1:4

In honey, which one among the following
sugars predominates?

(b) Fructose
(d) Maltose

(a) Surcose
(c) Galactose

(2]

1.

SECTION-A
(MENTAL ABILITY)

a¥ & i qur ffd wmqst F @ FT FROr
FT 87

(a) ari¥er qRHHACT 7 gedT f gF § IFF 3=
(eIc#) T =i (FHTH)

(b) G T 39 3H&T 9 EOTT

(c) TR 3ausT F IRad=

(d) g2aY T 39 JTAT3TET I ARHHOT

0% AT #H WIASHAT FaFeE! T FE&AT
et &

(a)4 (b) 6
(c)8 (d) 10
el 1 AdTad @Sl = raEyr HiA-dr §2
(a) 3 (b)aTT-3TEEENT e
(c) ToIrEAT (d) z@

frd groft FIRNFT F e Nagex & gaifes
agamﬁﬁmmmm%?

(b)2,8,7
(d)7,8,2

Y Trele a) A 3 B WA qard & ¥ B

Ifs B A oFa$ A Y dFars @ Qe § o
A F g Iy aR=de #1 Bear & e
g, ar 3% wfader Ry 3R Rp frar areqara
&7

(@2:1 (b)1:2

(c)1:8 (d)1:4

wes A fAmafaf@a & & #la @ o 99w
87

(a) ghre

(c) dreterere

(b) HaFeTE
(d) HATecrH
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10.

11.

12.

13.

14.

15.

Which one among the following is the coral
group of islands of India?

(b) Nicobar
(d) Lakshadweep

(a) Andaman

(c) Minicoy

What is ‘breakbone fever’ most commonly
known as?

(a) Typhoid
(c) Yellow Fever

(b) Rhinitis
(d) Dengue

After diagnosis of disease in a person, the
doctor advise the patient iron and folic acid

tablets. The person is suffering from
(a) Osteoporosis (b) Anaemia
(c) Goitre

(d) Protein energy mainutrition

The number of aluminium ions present in
54 g of aluminium (atomic weight 27) is:

(a) 2 (b) 18
(c) 1.1x10* (d) 1.2x10*

Van de Graaf generator is used for
(a) Accelerating charged particles
(b) Generatig large currents

(c) Generating electric field

(d) Generating high frequency voltage

The most stable form of carbon is :
(a) Diamond (b) Graphite
(c) Fullerent (d) Coal

Which one among the following is not a
sexually transmitted disease?

(a) Syphills (b) Gonorrhea
(c) Scurvey (d) Hepatitis B

During short-circuiting, the current flowing
in the electrical circuit

(a) Reduces substantially
(b) Does not change
(c) Increases instantaneously

(d) Vareis continuously

8.

10.

11.

12.

13.

14.

15.

(3]

frafaf@a & @ il @1 & ARG FT vard

SHI-HoE 87

(a) A (YRGEIEIR

(c) fAeferra (d) erated™
‘TS2NAIE ST H AT FIT Fgd 87
(a) AT (b) ATaT-Y

(c) drasR (d) S

et cafda & W1 §F Bew §F @
Rffcas WM i Aw va wfes 3Fa
fefrar a ff worg &ar ¥ | =@fFa BFw Qor
¥ @ifza 27
(a) feugRRar
(c) ITere8

(b) 3T
(d) WéeT- 3Sit oo

54 g vqRfaEsd (WA] AR 27) A fyHA
TfAfATe Il fr wEdr #7443

(a) 2 (b) 18

(c) 1.1x10* (d) 1.2x10*

e T AE AT ST 3R FAT Srar §

a) AT Ho H ART W & fow
b) gfed URT STl & AT
c) faga &7 ST & forw

(
(
(
(d) 3T=-3mgfd dleedr Sieiel & faw

HIET FT FaAAS TARN T HiA-A1 87

(a) €rT (b) TS

(c) PorieT (d) FrreT

fAfaf@a & @ sla-w w da-gaRa dr
Cl

(a) Taftefora (b) =TT

(c) Thdl (d) guersfea-a

aguye & SR Ry aiwy & yaifea @
arell €RT

(a) FT T ST &
(c) dchlel dadr g

(b) TEY SEeIdT
(d) SR Sgeldr &
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SECTION-B
(ENGLISH)

16.

17.

18.

19.

20.

21.

22,

23.

24.

Choose the best antonym of the given word
from the options given below.

EQUIVALENT
(a) Comparable (b) Dissimilar
(c) Parallel (d) Identical

Choose the best antonym of the given word
from the options given below
CONTROVERSY
(a) Argument

(c) Agreement

(b) Difference
(d) Quarrel

Choose the correct synonym of the given
word from the option given below.
DEPOSITION
(a) Ascent

(c) Impeachment

(b) Employment
(d) Coronation

Choose the MISSPELT word.
(a) Preservence (b) Possession
(c) Reference (d) Restarant

Choose tge MISSPELT word.
(a) Abundance (b) Absence
(c) Acclaim (d) Advertisement

Complete the sentence with the most
appropriate word. Students are not
expected to leave without .
(a) Tolerance (b) Indulgence
(c) Permission (d) Freedom

Complete the sentence with the most
appropriate word. I always arrive to class

twenty minutes so that I have
time to prepare.

(a) Late (b) Early

(c) Later (b) Behind time

Complete the sentence with the most
appropriate word. Making pies and cakes
Mrs. Kumar’s specially

(b) Is

(d) Are being

(a) Have
(c) Has

The following sentence is divided into four
parts (P, Q, R and S). Rearrange it in the
proper sequence in order to make a
meaningful sentence. (P) or car racing tests
(Q) And a car’s power (R) Automobile
racing (S) Both a driver’s skill

(a) RPSQ (b) QPSR

(c) RSPQ (d) SQPR

25.

26.

27.

28.

29.

30.

(4]

The following sentence is divided into four
parts (P, Q, R and S). Rearrnage it in the
proper sequence in order to make a
meaningful sentence (P) That is closely
related to the peach tree (Q) Almonds are
commonly called nuts (R) But they are
actually seeds (S) And they come from a
tree

(a) RPSQ
(c) SQPR

(b) QRSP
(d) SQPS

Choose from the four options, the word
that best defines/substitues the given
phrase. “The scientific study of the mind”
(a) Philology (b) Psychology

(c) Sociology (d) Anthropology

Choose from the four options, the word
that best defines/substitues the given
phrase. “A place where ships load and

upload goods”
(a) Port (b) Terminal
(c) Coach (d) Hangar

Choose from the four options, the word
that best defines/substitues the given
phrase. “A person or animal that eats all
kinds of food”
(a) Omnivorous
(c) Insectivorous

(b) Herbivorous
(d) Carnivorous

Rearrange the parts of the sentence in
correct order.

We are told that its

P-Public Distribution System
Q-creating a functional

R-sole purpose is the noble goal of

(a) QRP (b) RQP

(c) PRQ (d) PQR

In the following question, some part of the
sentence may have errors. Find out which
part of the sentence has an error and select
the appropriate option. If a sentence is free
from error, select 'No Error'.

Soon as he (A)/saw the policeman, (B)/he
ran away, (C)/No error, (D) Option

(@) A (b)B

©C (d)D
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SECTION-C
(PHYSICS)

31. An athlete in the Olympic game covers a
distance of 100 m in 10 sec. His Kinetic
energy can be estimated to be in the range

(a)200J -50017 (b) 2x 10°T —3x10°J
(c) 20,000 J - 50,000J (d) 2,000 J — 5,000 J

32. A body of mass m = 3.513 kg is moving along
then x-axis with a speed of 5.00 ms . The

magnitude of its momentum is recorded as
(a) 17.6kgms ' (b) 17.565 kg ms '
(c) 17.56 kg ms (d) 17.57 kg ms "

33. A cell has terminal voltage 2V in open circuit
and internal resistance of the given cell is 2 Q
. If 4A of current is flowing between points P
and Q in the circuit and then the potential

difference between P and Q is

40
(b) 26V
(d) 24V

34. Two full turns of the circular scale of a screw
gauge cover a distance of 1 mm on its main
scale. The total number of division on the
circular scale is 50. Further, it is found that
the screw gauge has a zero error of -0.003
mm. While measuring the diameter of a thin
wire, a student notes the main scale reading
of 3 mm and the number of circular scale
divisions in line with the main scale as 35.

The diameter of the wire is:
(a) 3.32 mm (b) 3.73 mm

(c) 3.67 mm (d) 3.38 mm
35. A planet in a distant solar system is 10 times
more massive than the earth and its radius is
10 times smaller. Given that the escape
velocity from the earth is 11 kms ' the
escape velocity from the surface of the planet

would be:
(@) 1.1 kms " (b) 11 kms "
(c) 110 kms (d)0.11 kms "

(5]

31. 3afFes @t # ve @S 10 dFs & 100 #
g a7 Far 8] 3wh Afaer 391 Aefaf@a
fre TaR # & wwd ¥?

(a) 200 — 500 ST (b) 2% 10° — 3x 10°S[
(c) 20,000 — 50,000 ST (d) 2,000 — 5,000 ST

UF & fHuFT geaAE m = 3.513 farm @, x-
a7 & ejfeer 5.00 # @' F I ¥ Afy W

W@ ¢ | 59F a9 1 g

(@) 17.6 fram #r @' (b) 17.565 fRam & '

(c) 17.56 fram & @' (d) 17.57 fFam & I

32.

33. g aitwy & vw d@ A B/ A deear 2v @
auT Ru v A &1 Al gfaw 20 B I
4A #1 4rT g3 P duT Q & F7ex aRuy F

95 W ¢ fegat P aur Q ¥ 7ty feaear @

2IV, 20)
5 |
- MW\
L %0
(a) 30V (b) 26V
(c) 22V (d) 24V

34 ww YA ¥ M AR F & Ut T,
& YA X Fo s F wEAr 50 P GEATR
# -0.003 et i qR AT oI § | v
Udd dR HT A AG §AY TH S AT
Y F1 o 3 AHA T AR A= &+
3537 e 7ET daw & Tl R oy W F

AT AT §] AR HT AT §
(a) 3.32 f&Y (b) 3.73 fAsY

(c) 3.67 fA# (d) 3.38 faat
35. U& Y WRAUSH FT U& 7§ qedl T Jorar &
10 77 oY & Tur W BT 10 I F P
g gt & vemaer o 11 v @ & 39 7%
¥ qargeT 97 fhear ghem?

(a) 1.1 et (b) 11 faretrar
(c) 110 Tref/&r (d) 0.11 fFea

22



36.

37.

38.

39.

40.

Laser light has following property

(a) Laser light is white light

(b) Laser light is highly coherent

(c) Laser light always lies in X-rays region
(d) Laser light does not have directionality
property

A sound wave is generated by the howl of a
wolf in the night. How would we describe the
motion of a particular air molecule near the
ground, a mile away from the wolf, on
average (i.e. ignoring the random wandering
of gas molecules)?

(a) It moves up and down in an oscillating
fashion

(b) It moves aay from the wolf at the speed of
sound

(c)It moves back and forth (oscillating) towards
the wolf

(d) It moves in the horizontal circle.

A particle is moving in translatory motion. If
momentum of the particle decreases by 10%,
kinetic energy will decrease by

(a) 20% (b) 19%
(c) 10% (d) 5%

Which of the statement is incorrect about the
simple microscope?

(a) Magnification of microscope is inversely
proportional to the least distance of distinct
vision.

(b) A convex lens of microscope with shorter
focal length yields higher magnification

(c) Biology students use to see the slides

(d) It is not used for magnification of an object
at far away from the observer.

Surface tension of the liquid is S. Work done
in increasing the radius of soap bubble from
R to 3R at given temperature will be

(a) 87SR? (b) 167SR*
2
(c) 647SR? ) 18”3SR

(6]

36.

37.

38.

39.

40.

AN yanr faweT a[or T §

(a) SIS TehTeT 23 8T &

(b) SIS YHTeT HcATIF FHellaFag giam &

(C) oIS ehTeT EHEM T faoT 819 # gl g
(d) SR Yehrer & feRlcAsh 0T 6T g &

v Ay A AT e qErr ufF F vw eafa
AT 3c9et T AT § (Fe AW IopEt F
ummﬁmmgc)ﬂ%ﬁﬁw
A T ol | By oF gar & For fq afq
staa w1 & e R s gef?

(a) T§ FW AT TH grelelr & F aIfa Hwm
(b) IE AT § T F I wafx &1 I &
aifa e

(c) T8 Afsd A I 3T IS (Qreeh) afx
HL

(d) 75 wH aifdst gd # afT < &

T HUT T AT FT T@T §| IR For &t
AT 10% TedT § ar sHH fas 39T e
(a) 20% (b) 19%

(c) 10% (d) 5%

ATYROT (W) GaAeelt & ar & Fia-a1 Fya
3T §7?

(a)geHcel & 3matie faae (vose) Tfte
eI AT & GohAEIIT glcl §

(b) gEHERT & A BlhA gl & 3cdd o 4
3o 3aeie urea g &

(c) Sha e & faumft Toss #i cusy & FH
Hod g

(d) Yeteh & o Foud a&q & HEde & fav Ig
39T H AL T §

TS gd H1 Y3 dard S ¥ felt Re v amr w
TF WEA F gaqa # AR § 3R @ #
T I S g

(a) 87SR* (b) 167SR*
2
(c) 647SR> () 18”35R
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41.

42,

43.

44.

45.

46.

47.

Suppose you drive to Delhi (200 km away) at
400 km/hr and return at 200 km/hr. what is
yours average speed for the entire trip?

(a) Zero

(b) 300 km/hr

(c) Less than 300 km/hr
(d) More than 300 km/hr

A system undergoes a reversible adiabatic

process. The entropy of the system
(a) Increases (b) Decreases
(¢) Remains constant

(d) May increase or may decreases

A narrow white light beam fails to converge
at a point after going through a converging
lens. This defect is known as

(a) Polarization

(b) Spherical aberration
(c) Chromatic aberration
(d) Diffraction

A student’s 9.0 V, 7.5W portable radio was
left on from 9:00 P.M. until 3:00 A.M. How
much charge passed through the wires?

(a) 6000 C (b) 12000 C

(c) 18000 C (d) 24000 C

Which of the following material has lowest
resistivity?

(b) Silver

(d) Copper

(a) Constantan

(c) Manganin

A proton and an alpha particle both are
accelerated through the same potential
difference. The ratio of corresponding de-
Brogile wavelength is:

(b) 2

(a)2
1
(©) 242 (d) —=

22
A 3kg objects has initial velocity (6; -2j )
m/s. The toal work done on the object if its
velocity changes to (8; —4j ) m/s is:

(a) 60J
(c)2161]

(b) 120J
(d) 44]

41

(7]

42,

43.

44,

45.

46.

47.

Ig AfaT fF Mt 200 km g Rt #: 400
km/hr & SI=T § @97 200 km/hr & wlear )
I9F 37 SR Y sitwa o v gei?

(a) A= (b) 300 km/hr

(c) 300 km/hr & &H

(d) 300 km/hr & 3ifRe

T AR tF IHATOT SUH IHA @ el
2 s Y vadt (ENTROPY)

(a) seal (b) et
(c) 3R Tl & (d) 5 IT g€ Fehall §

TS qd YT FHOT 0T v AfREY oW &
oA F TeAd v @ g W R e &
IAH Bt § IE AW foeT Fgerar ¢

(a) ggaor (b) M fag=

(c) avffT fauzer (d) fad=T

TH o & 9.0V ud 7.5W &1 v I 9:00
PM. & 3:00 AM. aF 9T T@aT & af ar”
@R fhelel Jaer Jarfee §3me

(a) 6000 C (b) 12000 C

(c) 18000 C (d) 24000 C

T & ¥ e FH gfARUFar arem geret §
(a) P (b) =Er

(c) HarelraT CIGIEL

TF WEId TG TdH AW HT gkl S AR
fsarar garr cafa frar Sar 8 39 J9a

31 et aergedt &1 sreqane §
(a) 2 (b) 2
1
242 d) —
© 242 ()2\'5

ww 3kg A TEG F TR (60 -2/ ) ms.

¥ AR awq @1 A (8i-4/)mis @ e & @@
d% 9] W &ar mar Fa & gen

(a) 60J (b) 1207
(c) 21617 (d) 44
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48. A force F = 75N is applied on a block of mass |48. w& §a F = 75N & 5kg geqdA & sdih W

.Skg along the fixed §mq0th incline as s'hown R Tt BT 79 g9 & AR a9
in figure. Here gravitational acceleration g = > o : > o
10m/s>. The acceleration of the block is: STl §] 78t THedl T g = 10m/s § salE F
T e
i
AT
30()
30()

(a) Sﬁ2 downwards the incline

* (a) 52ad a & 3feer A d 3R
S
m . .
(b) 5S—2upwards the incline (b) 5 Ez EERS ﬁ of 39T &7 3T
S
© IOSE2 downwards the incline (©) 10 ﬂz A del F Jegfeer A A IR
S
(d) 102 upwards the incline (d) 105 a0 der & e FW & 3R
s s
49. Shown in the figure adjacent is a meter — 49. T & & #Aex {g 3yHor yefda ¢ et
bridge aet up with null deflection in the RIAT e RaT Rufy F ¥ 3 g
galvanometer. The value of the unkown A
. . R & AT §
resistor R is:
550 R 550 R
A _AMAN — \NVV N SEVAVAVAVAVS N

<«20¢
«—20 cm 20 cm —»

| | o O | | O O
(a) 13.75Q (b) 220Q (a) 13.75Q (b) 2200
(c)110Q (d)55Q () 110Q (d)55Q

50. An incompressible non viscous fluid flows 50. T IEATT IRT &9 T JA TET H

steadily through a cylindrical pipe which has Hdd T & 98 T@T 8] 39% g1 a i R &
radius 2R at point A ant.i ra(!ius R at point B SrAfer ﬁ?, A W 9T # frsar 2R & @ &9
farther along the flow direction. If the 2 " & . &
velocity of the fluid at point A is V, its EEL ﬁf’" T B F‘E.;, LAY s
velocity at the point B will be: R ¥ a g B W ga & 397 A1 grm?
(a) 2V (b) V (a) 2V (b)V
(c) V/2 (d) 4V (c) V2 (d) 4V

(8]
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SECTION-D
(CHEMISTRY)

1.

52,

53.

54.

SS.

56.

57.

Formula of Bleaching powder is:
(a) CCL,CHO (b) CaOCl,

(c) Ca(OH), (d) CHCI,

When Gringnard reagent with ketone it
yields

(a) 1° alcohol
(c) 3° alcohol

(b) 2° alcohol
(d) Ethanol

For the reaction

250, + 0, (excess) — 2SO, the order of
reaction with respect to O; is

(a) Zero (b) One

(c) Two (d) Three

Friedel — Craft reaction is not related

with:
(a) Sulphonation (b) Nitration

(c) Acylation (d) Reduction

Milk is an emulsion in which:
(a) Milk fat s dispersed in water
(b) A solid is dispersed in water
(c) A gas is dispersed in water

(d) Lactose is dispersed in water

Micelles are:

(a) Gel (b) Associated colloids
(c) Adsorbed catalyst

(d) Ideal solution

The decreasing order of electron affinity
is:

@F>ClI>Br>1
©I>Br>CI>F

(b)Cl>F>Br>1
(d)Br>ClI>F>1

(9]

51.

52.

53.

54.

55.

56.

57.

selifAfer sy &1 ¥ &
(a) CCL,CHO (b) CaOCl,
(c) Ca(OH), (d) CHCI,

9 oA ffeds AT F afAafFar
FIaT & ar urea @ar ¥ -

(a) 1° Toiger
(c) 3° Uewlge

(b) 2° Toelge
(d) T

sfafFar 250, +0, (excess) > 2SO0, &
AT 0, & u=est (Arder) # FfAfHAT
Fife &

(@) Y= (b) TR

(c) a (d) e
Pra-wve FAfHRT RaRf@a & @
grafa 7 ¥

(a) FemifaraioT (b) =TTE¢IRIoT
(c) uiafereior (d) 3T
oY F Uw § e

(a) G T TN FT Sfel H IREIUT FT §
(b) TS B & ST H TREIUT I§aT &
(c) U 3T &1 FTT H IREIT Em &
(d) JFeT &7 T H gREToT E|T &

e &
(a) Ster (b) FEURY Flellss
(c) HTANMRT 38RF  (d) &Y o=

FelFeiel HTCHICT (SLAT) FT T 3T HA
¥

(@F>Cl>Br>1
(c)I>Br>CI>F

b)CI>F>Br>1
(dBr>CI>F>1
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58. Which one is not the property of
crystalline solid?
(a) Isotropic
(b) Sharp melting point
(c) A definite and regular geometry
(d) High intermolecular forces

59. The number of ione pair(s) of electrons

on the central atom in [BrF,| ,XeF,and

[SbCl, ] are, respectively

(a)2,0and 1 (b) 1,0 and O
(¢)2,1and 1 (d)2,1and 0
60. The structure of carboxylate ion id best
represented as:
O o
@ __ w0
—Cr —C
o) g
0 9]
©_ L @ A
—C\ —C.\
0] ‘0

61. For a non-volatile solute:
(a) Vapour pressure of solute is zero
(b) Vapour pressure of solvent is zero

(c) Vapour pressure of solution is more than
vapour pressure of solvent

(d) All of the options

62. The geometry around the central atom in
CIF; is

(a) square planar

(b) square pyramidal

(c) octahedral

(d) trigonal bipyramidal

63. Among the following, the equilibrium
which is NOT affected by an increase in
pressure is

(a) 280, (2)==250, (g)+0, (g)

(b) H, (g)+1, (s)—2HI(g)

(c) C(s)+H,0(g)e—=CO(g)+H,(g)

(d) 3Fe(s)+4H,0(g)<—=Fe,0, (s)+4H, (g)

[10]

58.

59.

60.

61.

62.

63.

Firar v frecer SraT FT 0T 7 82
(a) AR

(b) cheor AR fag

(c) AfRaa va TafEa sofad

(d) 3T HeRiUash sl

[BrF,] ,XeF, @ [SbCl,|” % ¥=ha
YIATT] 9T THTHT FAFerd JIAT T TE&AT §
SHHART:

(a) 2, 0 g 1 (b) 1,0d2T0
()2, 1aar1 (d)2, 13m0
FeffFade 3TT Y FIGAT FT GG ST
farwor ¥- ~
O @)
@ /7 v
—C_ —C\\
N0 0_
N O
o (d) C/
—C — %

& saraefier e & fav
(a) TaerT &1 arsUeE e BT &
(b) TaeTa® & arUET T BT ©

(c) TaeasT &7 arsugrd fdemae & arsuge O

e g &
(d) RV arv g3 faweT T &

CIF; & 01T WA & arf 3R sanfafa
¥

(a) T AT

(b) T RRIfART

(c) TCHADT

(d) Bl Rafatzg

gIe s W e & & Fla @1 /ey
vanifaa dt gar &

(a) 250, (g)(:)ZSO2 (g) +0, (g)

(b) H, (g)+L, (s)e==2HI(g)

(c) C(s)+H,0(g)e—=CO(g)+H,(g)

(d) 3Fe(s)+4H,0(g)<——Fe,0, (s)+4H, (g)
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64. In the manufacture of ammonia by
Haber’s process

N, (g)+3H, (g)——=2NH,(g)+92.3kJ

Which of the following condition is
unfavourable?

(a) Increasing the temperature

(b) Increasing the pressure

(c) Reducing the temperature

(d) Removing ammonia as it is formed

65. What is pH of 2x10® molar HCI

solution?

Here log2 = 0.301 and log3 = 0.477
(a)5.4 (b) 7.7

(c) 6.92 (d)9.5

66. What will happen if a cell is placed into
0.4% (mass/volume) NaCl solution:-

(a) Cell will swell

(b) Cell will shrink

(c) There will be no change in cell volume
(d) Cell will dissolve

67. When a liquid that is immiscible with
water was steam distilled at 95.2°C at a
total pressure of 99.652 KPa. The
distillate contained 1.27 gm of the liquid
per gram of water. What will be molar
mass of liquid if the vapour pressure of
water is 85.140 KPa at 95.2°C?

(a) 134.1 gm mol™!
(b) 105.74 gm mol™
() 99.65 gm mol™
(d) 18 gm mol’

68. Which one of the following is not a unit of

energy?
(a) Nm (b) kg ms™
(c) lit-atm (d) kg m%s™

[11]

64. & S & qERT o & Foor o
N, (g)+3H, (g)c—2NH,(g) +92.3kJ
foer # & #l o o e §2
(a) 9 s&T (b) T & e
(c) a9 &r "gear
(d) 3T & AT & T S e

65. 2x10* @R HCI faeasr $r pH Fa1 ghit?
gl log2 = 0.301 vg log3 = 0.477

(a) 5.4 (b) 7.7
(c) 6.92 (d)9.5

66. FAT AT § IR vF FIRAF F 0.4%
(gegaTe / 3mgaeT) NaCl feasr & @r rar
g7
(a) @IfrerT B gref
(b) =T s SN
(c) AP F JITT H HIg IRAdA AGT
gram
(d) AT e & IRl

67. UH gg st stear & s & a9 smaae
95.2°C WX 41 e g 99.652 KPa W
frar a3 | YA & S F YRS AT FAY
%a &1 1.27 gm 3ufeya §| I ster &7
asuer 95.2°C 9T 85.140 KPa €, ga &1
AR geTATT FAT gRM?

(a) 134.1 gm mol™*
(b) 105.74 gm mol ™’
() 99.65 gm mol’!
(d) 18 gm mol’!

68. e & ¥ FlT W@ F1 A FHE AL &2
(a) Nm (b) kg ms™
(c) lit-atm (d) kg m?s™
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69.

70.

71.

72.

73.

74.

Compound Cl\ /CH3 has the
C=C
/7 N\
H C2Hs
following prefix
(@ E (b)Z
(c) trans (d) Anti

The isomerism exhibited by following
compounds [Co (NH,), ] [Cr (CN), ] and

| Cr(NH,), | Cr(CN), [is:
(a) Linkage isomerism

(b) Coordination isomerism
(c) Ionization isomerization
(d) Polymerisation isomerism

) CHs
69. e\ / & fav
P
H C:Hs
39T &
(@ E (b Z
(©) & | (d) T
70.  sifaf@e FRH Co(NH,), ][ Cr(CN), ]

aur [ Cr(NH,), |[ Cr(CN), |gawr
FATGIAT EiRid & W §-

(a) I HATGIAT

(b) 3UEGHASTT FATAIAT

(c) IATTAT GHTIIA

(d) SGARIRYOT HATIIAT

SECTION-E

(MATHEMATICS)

What is the mean of the squares of the
first 20 natural numbers?

(a) 151.5 (b) 143.5
(c) 65 (72

A box contains 3 white and 2 black balls.
Two balls are drawn at random one after
the other. If the balls are not replaced,
what is the probability that both the balls
are black?
(a) 2/5

(c) 1/10

(b) 1/5
(d) None of the above

For two variables x and y the two
regression coefficient are b, =-3/2and

b, =—1/6. The correlation coefiicient

yx

between x and y is:
(a)-1/4 (b) Y4
(c)-172 (d) 2

The sum of an ifinite GP is x and the
common ratio r is such that |r| < 1. If the
first term of the GP is 2, then which one of

the following is correct?
(a) -1<x<l1 (b) o< x<1

(c) 1<x<w (d) None of the above

71. WU 20 HAOT WEAHT F FaT FT ATET FAT

e?
(a) 151.5 (b) 143.5
(c) 65 (d)72

72. 0% S50 & 3 Whe 3T 2 Freh 3G @ & A
TRREFAT T & 91¢ TF AFel St B

Ifg et & Freh g i TRwar Far 372
(a) 2/5 (b) 1/5
(c) 1710 (d) 39T # § IS 76T

73. @ = x 3R y & A & wAE qUnE

b,=-3/23R b, =-1/6.3 x 3Ry &
(a) -1/4
(©)-1/2

(b) Y
(d) 2

74. TF 3T GP & Aerdd x § AR WENTIT
r T § Y |r| <1 & IRGP F1 yuH ug 2

¢, o efaf@a & & #la a1 e @@ T2

(a) —1<x<l1 (b) o< x<1

(d) 3T 7 ¥ IS A

(c) 1<x<w
[12]
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75.

76.

77.

78.

79.

80.

p, q, I, S, t are numbers such that the
average of p, q and r is 5 and that of s and
t is 10. What is the average of all the five
numbers?

(a) 7.75
()7

(b)7.5
(5

The cumulative frequency of the largest
observed value must always be:

(a) Less than the total number of observation

(b) Greater than the total number of
observation

(c) Equal to total number of observation

(d) Equal to mid-point of the last class
interval

It has been found that if A and B play a
game 12 times, A wins 6 times, B wins 4
times and they draw twice. A and B take
part in a series of 3 games. The
probability that they win alternately, is:

(a) 5/12 (b) 5/36
(c) 19727 (d) 5727

Out of 7 constant and 4 vowels, words are
to be formed by involving 3 constants and
2 vowels. The number of such words
formed is:

(a) 25200
(c) 10080

(b) 22500
(d) 5040

How many different words can be formed
by taking four letters out of the letters of
the word ‘AGAIN’ if each word has to
start with A?

(a) 6 (b) 12
(c) 24 (d) None of the above
X

What is lim —— equal to?

=0 J1—cos x 1
(@) \2 (b) 2

1
(c) —= (d) Limit does not exist
2

[13]

75.

76.

77.

78.

79.

80.

99 §EAW p, q, 1, S, t & 39 9HR & p, q
3R r &1 kAT 5 &, 3R s it @ sitEa 10
2| @t araY FEamst F1 sitwa = §2
(a)7.75 (b)7.5

()7 (d)5

¥gdd IfAd A A T IRIRAT T F4T
gt =fgw?

(a) 9efoll T Fel HEAT ¥ HA

(b) WeToll & HeT TEAT T TR

(C) S&TUT &Y Fol HEAT & SR

(d) 3TaH a9 AT & AEATG & TR

I A 3R B & @9 12 R Qo §, A TE
91T ST § R A, 6 9R Siidar §, B, 4 R
shaar ¥ 3t & ar sfaoffa wa 3 A 3k
B, 3 Wal Y s@er # fowwm A 7] 3%

T-aR F S Fr wriEar #4782
(a) 5/12 (b) 5/36
(c) 19727 (d) 5/27

7 et 3R 4 T A 3 ot 3K 2
TR & AT e T §] TH IPR
real T WE&AT FAT 872
(a) 25200
(c) 10080

(b) 22500
(d) 5040

e ‘AGAIN’ & 3reTY & ¥ 4 38/ AT
fraet R g 9910 o & &, I
Td® Meg A ¥ URH &2

(@) 6 (b) 12

(c) 24 (d) 3ugFT H ¥ HIS AL
. X

{.133—,—1_00” e qoa &

(@) V2 (b) —2

(c) % (d) EHT T T T &
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81.

82. What is

83.

84.

85.

86.

From an aeroplane above a straight road
the angles of depression of two positions at
a distance 20m apart on the road are
observed to be 30° and 45°. The height of
the aeroplane above the ground is:

(a) 1043 m (b) 10(\/5—1) m
() 10(J§+1) (d) 20m

1+sinA 1-sinA
1-sinA  1+sinA
(a) sec A-tan A

(b) 2sec A.tan A

(c) 4sec A.tan A

(d) 4cosec A.cot A

equal to?

What is j. "

0

e equal to?
+x

(a) e% -1 (b) ei +1
(c)e—1 (de

What is the slope of the tangent to the
curve y=sin"’ (sin2 x) atx=10?

(a)0 (b) 1
()2 (d) none of the above

The first two terms of a geometric
progression add upto 12. The sum of the
third and the fourth terms is 48. If the
terms of the geometric progression are
alternately positive and negative, then the
first term is

(a) -4
(c) 12

(b)—12
(d) 4

It is given that the events A and B are
such thatp(A)= 1,[)(5} = landP(Ej _2,
4 B A

2 3
Then P (B) is
1 1
— b) —
(@) p (b) 3
2 1
(©) 3 (d) >

[14]

81.

82.

83.

84.

85.

86

TH it 5% & I TH gars e § 39
WSH 9 20m YUF & TAEI & AT HIT
30° 3T 45° 9fRrT R I @ ST F FU
FATS SETS Y FATS FAT 82

(a) 1043 m (b) 10(J§—1)m
(©) 10(\/§+1) (d) 20m

1+sinA 1-sinA
1-sinA  1+sinA

(a) sec A-tan A

(b) 2sec A.tan A

(c) 4sec A.tan A

(d) 4cosec A.cot A

frad Toa §7

1 elan" *dx

—fFas gea 7
y 1+x
(a) ei—l (b) e%+1
(c)e—1 (de

x=0W qF y=sin" (sin2 x)ﬂT Faeft #r

9qoraT F4T 87
(2) 0 (b) 1
(c)2 (d) 3ugFT # ¥ HIS AL

Joitea’ Aol & 9UH &Y ga&l F1 AT 12 g
N qur 9iY gg FT ITH 48 B IR
Toica Ao F Ug FH A YACHAS qUT
RUNCAS &, 99 997 U &

(a)— 4 (b)—12

(c) 12 (d) 4

S gt A 9 B 39 YR & T

P(A):%,P(%j:%andP(%j:% a9 P(B)
FT AT
1 1
(a) g (b) g
2 1
(©) g (d) 5
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87.

88.

89.

90.

AB is a vertical pole with B at the ground
level and A at the top. A man finds that
the angle of elevation of the point A from
a certain point C on the ground is 60°. He
moves away from the pole along the line
BC to a point D such that CD = 7m. From
D, the angle of elevation of the point A is
45°. Then the height of the pole is:

3
2(V3-1)
%(\/’g+l)m
%(«E—l)m
%(\E’lﬂjm

(a)

(b)

©

(d)

Let a, b, ¢ be any real numbers. Suppose
that there are real numbers x, y, z not all
zero such that x = cy + bz, y = az + cx and

z=Dbx + ay

Then a” +b> +c” +2abc is equal to
(a)2 (b)—1

©0 (d) 1

How many different words can be
formed by jumbling the letters in the
word MISSISSIPPI in which no two S
are adjacent?

(@) 8.°C,. 'C,
(b) 6.7. °C,
(c) 6.8.'C,
) 6. °c, *c,

A die is thrown. Let A be the events that
the number onbtained is greater than 3,
Let B be the event that the number

obtained is less than 5. Then, P(A UB)is

3

a) — b) 0
(a) 5 (b)

2
1 d) =
(© O

[15]

87. AB TF 3taltR ¥aew ¥ fSwd B 3muR Reg

88.

89.

90.

aur A oY 3| v afeT gar & & 3mur
W Pyd v fAfRad fieg C & ofid A &
3eeTasT FIT 60° 3| a8 =afda @1 BC &
e FaFH ¥ g g D aF 39 Y&
St § FCD =7m § feg A T Fowraer
FIT 45° B a9 TN P FAE B

AT a, b, ¢ P IFARAS FEIW §| AT
IFAfdF HEATT X, y, z (T T 161 §) 39
YPR § A x=cy+bz,y=az+cxaur z=
bx + ay, d9a’ +b*> +c> +2abc #T AT 272
(a) 2 (b)—1

(©)0 ()1

ersg MISSISSIPPI & 3rari Y gof: Tifa
T e Ueg AT o TR §, o w
ar S geed o B2

(a) 8.°C,. 'C,

(b) 6.7. °C,

(c) 6.8.C,

@ 6. °c, *C,

T i1 HepT AT §] AT A, 3 ¥ 3w
TEAT T FrueAT g 94T B, 5 ¥ A
HEAT yTed e & "eaT 8 a9, P(ALJ B)
FT AT §

3
2 b
(a)5 (b) 0

2
1 z
(c) (d) 5
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SECTION-A
(MENTAL ABILITY)

1.

In honey, which one among the following
sugars predominates?

(b) Fructose

(d) Maltose

The number of valence electrons in the O*
ion is:
(a)4
(c)8

(a) Surcose
(c) Galactose

(b)6
(d) 10

Which one of the following is the correct
electronic configuration of chlorine?

(@)2,7,8 (b)2,8,7
(©)2,8,8 (d)7,8,2

Within an animal cell, the most abunadant
inorganic constituent of protoplasm is:

(a) Sodium and potassium salt
(b) Water
(c) Iron (d) Phosphate

During short-circuiting, the current flowing
in the electrical circuit

(a) Reduces substantially

(b) Does not change

(c) Increases instantaneously

(d) Vareis continuously

The latest discovered state of matter is:
(a) Solid

(b) Bose-Einstein condensate

(c) Plasma (d) Liquid

The number of aluminium ions present in 54
g of aluminium (atomic weight 27) is:

(a) 2 (b) 18

(c) 1.1x10%* (d) 1.2x10*

Two conducting wires A and B are made of
same matrial. If the length of B is twice that
of A and the radius of circular cross-section
of A is twice that of B, then their resistanece

R4 and Rg are in the ratio:
(@)2:1 (b)1:2

(c)1:8 d1:4

1.

(2]

wes A famafaf@a & & i @ aw gqw
§?

(a) TIE (b) TaerH
(OEIGETAL:] (d) HATecrd

0% AT A TASHAT FAFCHT A FEdT
fpaet &

(a)4 (b) 6

(©)8 (d) 10

efaf@a & @ #la-a1 v FaOdaT F1 @

SolFeliold AeaTH &2
(@)2,7,8 (b) 2,
©)2,8,8 7

R groit FRAFT F 3eeT Sagey H s
agwmmﬁmmm%?

(a) AT 3R e orqor

(b) STt

(c) =T (d) ®REhE

aguds F SR Rya aRoy & gaifa @

qreil RT

(a) HTHY T AT &

(b) =T8T Seerdr

(c) dcdhlel FadT g

(d) SRTAR Seordt &

qert Y AdeTaw @l =AY IaEdr Fia-dE §2
(a) o1& (b) SE-ISENT Ferely
(c) ToIrEAT (d) g

54 g vfAfags (WA] R 27) # v
vt et fr wEdr w4 37

(a)2 (b) 18

(c) 1.1x10* (d) 1.2x10*

aY Trele d) A 3 B WA qard & ¥ B
afs B 1 oFa1$ A Y AFaT$ @ Qe B oau
A & g ey aRese 1 Bsar & e
%,Fﬂ'mmRAmRBmm#
&7

(a)2:1
(c)1:8

(b)y1:2
d1:4
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10.

11.

12.

13.

14.

15.

Which one among the following is the coral
group of islands of India?

(b) Nicobar
(d) Lakshadweep

(a) Andaman

(c) Minicoy

After diagnosis of disease in a person, the
doctor advise the patient iron and folic acid

tablets. The person is suffering from
(a) Osteoporosis (b) Anaemia
(¢) Goitre

(d) Protein energy mainutrition

What is ‘breakbone fever’ most commonly
known as?

(a) Typhoid
(c) Yellow Fever

(b) Rhinitis
(d) Dengue

Van de Graaf generator is used for
(a) Accelerating charged particles
(b) Generatig large currents

(c) Generating electric field

(d) Generating high frequency voltage

The most stable form of carbon is :
(b) Graphite
(d) Coal

(a) Diamond
(c) Fullerent

The summer and winter season in a year are
caused by

(a) Aphelion (farthest) and perihelion (nearest)
postion of the Earth from the Sun during
the annual revolution

(b) Rotation of the earth on its axis
(c) Variation in solar insolation

(d) Revolution of the Earth on its inclined axis

Which one among the following is not a
sexually transmitted disease?

(a) Syphills (b) Gonorrhea
(c) Scurvey (d) Hepatitis B

9.

10.

11.

12.

13.

14.

15.

afaf@a & @ Fla @1 & ARG F yaiT

gdIT-|eg 87
(a) AT (b) TR
(c) BT (d) SreTedT

ot =ufdd & Wr & P F TaE
Rffcas Wt i ag @ wfds 3Fa N
fefFar ot it o ar 7 | =ufea e v @
difga 872
(a) fEugRar
(c) I8

(b) 3FAT
(d) W& 3T FHuor

FEdIE T & ATAT FAT FEA 82

(a) AT (b) =ATaT-ener
(c) drasaX (d) s9T

T 2 A% AT FT 39ANT FAT SAET §

(a) 3MAfAT FHUN FI calRd A & T
(b) afga arT F=teT & fow

(c) fayd &iF Sietel & forw

(d) 3T-3gfd dleedl Siofel & fow

FTET FT TS TARN T Fla-a1 §°2
(a) R (b) AprSE
(c) DerdieT (d) STl

S

af & dfsH qur fd wJAt F @} F FROr
FqT 82

(a) @i gRspATT #H gt T & § T 3=9
(aH) Tur e (FA9aT#)

(b) G T 39 3HeT W Yol

(c) ER 3maus # aRade

(d) 92T T 39 AT TR IRpHAOT

frfaf@a & & sla-ar v da-dafRa A

Tér 82
(a) afefog (b) MAR=T
(c) Thar (d) gdcrsfeq-aT
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SECTION-B
(ENGLISH)

16.

17.

18.

19.

20.

21.

22.

23.

24.

Choose the MISSPELT word.
(a) Abundance (b) Absence
(c) Acclaim (d) Advertisement

Choose the best antonym of the given word
from the options given below
CONTROVERSY
(a) Argument

(c) Agreement

(b) Difference
(d) Quarrel

Choose the correct synonym of the given
word from the option given below.
DEPOSITION
(a) Ascent

(c) Impeachment

(b) Employment
(d) Coronation

Choose the MISSPELT word.
(a) Preservence (b) Possession
(c) Reference (d) Restarant

Choose the best antonym of the given word
from the options given below.

EQUIVALENT
(a) Comparable (b) Dissimilar
(c) Parallel (d) Identical

Complete the sentence with the most
appropriate word. Students are not
expected to leave without .
(a) Tolerance (b) Indulgence
(c) Permission (d) Freedom

Complete the sentence with the most
appropriate word. I always arrive to class

twenty minutes so that I have
time to prepare.

(a) Late (b) Early

(c) Later (b) Behind time

Complete the sentence with the most
appropriate word. Making pies and cakes
Mrs. Kumar’s specially

(b) Is

(d) Are being

(a) Have
(c) Has

Choose from the four options, the word
that best defines/substitues the given
phrase. “A place where ships load and

upload goods”
(a) Port (b) Terminal
(c) Coach (d) Hangar

25.

26.

27.

28.

29.

30.

(4]

The following sentence is divided into four
parts (P, Q, R and S). Rearrange it in the
proper sequence in order to make a
meaningful sentence. (P) or car racing tests
(Q) And a car’s power (R) Automobile
racing (S) Both a driver’s skill

(a) RPSQ (b) QPSR

(c) RSPQ (d) SQPR

The following sentence is divided into four
parts (P, Q, R and S). Rearrnage it in the
proper sequence in order to make a
meaningful sentence (P) That is closely
related to the peach tree (Q) Almonds are
commonly called nuts (R) But they are
actually seeds (S) And they come from a
tree

(a) RPSQ
(c) SQPR

(b) QRSP
(d) SQPS

Choose from the four options, the word
that best defines/substitues the given
phrase. “The scientific study of the mind”
(a) Philology (b) Psychology

(c) Sociology (d) Anthropology

Choose from the four options, the word
that best defines/substitues the given
phrase. “A person or animal that eats all
kinds of food”
(a) Omnivorous
(c) Insectivorous

(b) Herbivorous
(d) Carnivorous

Rearrange the parts of the sentence in
correct order.

We are told that its

P-Public Distribution System
Q-creating a functional

R-sole purpose is the noble goal of

(a) QRP (b) RQP

(c) PRQ (d) PQR

In the following question, some part of the
sentence may have errors. Find out which
part of the sentence has an error and select
the appropriate option. If a sentence is free
from error, select 'No Error'.

Soon as he (A)/saw the policeman, (B)/he
ran away, (C)/No error, (D) Option

(a) A (b)B

() C (d)D
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SECTION-C
(PHYSICS)

31.

32.

33.

34.

3s.

A cell has terminal voltage 2V in open circuit
and internal resistance of the given cell is 2Q
. If 4A of current is flowing between points P
and Q in the circuit and then the potential
difference between P and Q is

2V, 20
4a |1 %0
(a) 30V (b) 26V
(c) 22V (d) 24V
A planet in a distant solar system is 10 times

more massive than the earth and its radius is
10 times smaller. Given that the escape
velocity from the earth is 11 kms ' the
escape velocity from the surface of the planet
would be:

(a) 1.1 kms ™'
(c) 110 kms '

(b) 11 kms !
(d)0.11 kms '

An athlete in the Olympic game covers a
distance of 100 m in 10 sec. His Kinetic
energy can be estimated to be in the range

(a) 200 — 5007 (b) 2x10°J —3x10°J
() 20,000 J —50,000J  (d) 2,000 J — 5,000 J

Two full turns of the circular scale of a screw
gauge cover a distance of 1 mm on its main
scale. The total number of division on the
circular scale is 50. Further, it is found that
the screw gauge has a zero error of -0.003
mm. While measuring the diameter of a thin
wire, a student notes the main scale reading
of 3 mm and the number of circular scale
divisions in line with the main scale as 35.
The diameter of the wire is:

(a) 3.32 mm (b) 3.73 mm
(c) 3.67 mm (d) 3.38 mm
A body of mass m = 3.513 kg is moving along

then x-axis with a speed of 5.00 ms . The
magnitude of its momentum is recorded as

(a) 17.6 kg ms ™ (b) 17.565 kg ms
(c) 17.56 kg ms™" (d) 17.57 kg ms

(5]

31.

32.

33.

34

35.

ga aay # vF a0 A /R A Aeear 2V &
aur U 1w e F7 Ialks gl 20 3 I
4A $1 4rT g3 P duT Q & F7ew aRuy #

7% W § Regat P Tu1 Q ¥ Aew Rvraer §

zlv, 20

— — MWW\
aan || Yo Q
(a) 30V (b) 26V

(c) 22V (d) 24V

UF €Y WRAVST FT UF g gt A Joen A
10 7 1Y & 9T swAr BAr 10 I F4 B
I gedft & gare o 11 Rl & & 39 Tw

¥ ggeT a9 fha«r grem?
(a) 1.1 fFery (b) 11 fraiy/a
(c) 110 frar/&r (d) 0.11 frar&r

Nafras @ #F v @arEr 10 dFs F 100 =
o a7 Far 8| 3w afaer 391 fAwafaf@a
fre yaR & g @ §7

(a) 200 — 500 [ (b) 2% 10° - 3x 10’3
(c) 20,000 — 50,000 SfeT (d) 2,000 — 5,000 et

v STt ¥ A R F @ qub T,
qET dAW W For A A wEAT 50 7] FeErATH
# -0.003 A i IR AT H AN F |
Udd dR $T AW AN TAT U6 OF JET
YA 1 vogie 3 fAH qur MY YA &
3531 g A&7 dAm & fret Res i v &
A AT §| AR FT AW §

(a) 3.32 fA#Y (b) 3.73 fA=T
(c) 3.67 fAFY (d) 3.38 fA=T

F qEq foHaT geaAE m = 3.513 R @, x-
IeT F Ifeer 5.00 @ ¥ &F Ao F Ay W

W ¥ | 39F g3 w1 i §

(a) 17.6 fFam # @' (b) 17.565 fFamw #r @~
(c) 17.56 fram & &' (d) 17.57 fram & I
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36.

37.

38.

39.

40.

41.

Surface tension of the liquid is S. Work done
in increasing the radius of soap bubble from
R to 3R at given temperature will be

(a) 87SR> (b) 1677SR’
2
(c) 647SR’ ) 18”35R

Laser light has following property

(a) Laser light is white light

(b) Laser light is highly coherent

(c) Laser light always lies in X-rays region

(d) Laser light does not have directionality
property

A particle is moving in translatory motion. If
momentum of the particle decreases by 10%,
kinetic energy will decrease by

(a) 20% (b) 19%

(¢) 10% (d) 5%

Which of the statement is incorrect about the
simple microscope?

(a) Magnification of microscope is inversely
proportional to the least distance of distinct
vision.

(b) A convex lens of microscope with shorter
focal length yields higher magnification

(c) Biology students use to see the slides

(d) It is not used for magnification of an object
at far away from the observer.

A proton and an alpha particle both are
accelerated through the same potential
difference. The ratio of corresponding de-
Brogile wavelength is:

(b) V2

(a) 2

24/2
© 242 D

Suppose you drive to Delhi (200 km away) at
400 km/hr and return at 200 km/hr. what is
yours average speed for the entire trip?

(a) Zero (b) 300 km/hr
(c) Less than 300 km/hr
(d) More than 300 km/hr

(6]

36.

37.

38.

39.

40.

41.

TF gd H 56 aara S 3] frdt Rw v av «w
UF WG & goqal F FSAR & 3R FA A
fFar arar s/ gem

(a) 87SR* (b) 167SR*
2
(c) 647SR’ ) 18”3‘9R

AN yanr fAFeT a[or T §

(a) SIS Yehler <& &l &

(b) SIS YHTeT HcATF FHellaFag giam &

(C) oIS JehTer §HLT Targ fohioT &1F H giar g
(d) SR Fehrer #H feeurcae o1 gl gl &

TH HUT TUTAROT AT FT QT §| IR FHor &t
AT 10% TedT § ar sqh Afas 39T gt
(a) 20% (b) 19%

() 10% (d) 5%

HTYROT (W) GaAeRlt & ar & Fia-91 Fya
I §?

(a)qareelt &1 3mat sy (¥ose) Tfde
“eTTH AT &% SGhAEI Bl &

(b) geHe & FHF Bhd gl & 3ol o F &
31fe 3maels ureT giar §

(c) ST faameT & faureft Tomss & @ & FH
Hodg

(d) w&Th & oT Fua a&g & Eda & fov g
3GET A 8T T §

TF T T UH HeWT T all Y FAT
e qarr caRa farar arar 3 s wor
31 Fel e T T @

(a)2 () V2

1
24/2 d) —
©) 242 ()2\/5

Ig AT fF 3maer 200 km g¥ el w400
km/hr & ST § 9T 200 km/hr & dtear 3
9% 37 g Y itwa =rer T e

(a) T (b) 300 km/hr

(c) 300 km/hr & &

(d) 300 km/hr & 310
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42

43.

44.

. Which of the following material has lowest
resistivity?

(b) Silver

(d) Copper

(a) Constantan

(c) Manganin

A narrow white light beam fails to converge
at a point after going through a converging
lens. This defect is known as

(a) Polarization

(b) Spherical aberration
(c) Chromatic aberration
(d) Diffraction

Shown in the figure adjacent is a meter —
bridge aet up with null deflection in the
galvanometer. The value of the unkown
resistor R is:

45.

46.

550 R
SENAVAVAVAVS N
<«—20cm—»
| | O O
| 1
(a) 13.75Q2 (b) 22022
(c)110Q (d)55Q

A system undergoes a reversible adiabatic
process. The entropy of the system

(a) Increases (b) Decreases

(c) Remains constant

(d) May increase or may decreases

A sound wave is generated by the howl of a
wolf in the night. How would we describe the
motion of a particular air molecule near the
ground, a mile away from the wolf, on
average (i.e. ignoring the random wandering
of gas molecules)?

(a) It moves up and down in an oscillating
fashion

(b) It moves aay from the wolf at the speed of
sound

(c)It moves back and forth (oscillating) towards
the wolf

(d) It moves in the horizontal circle.

(7]

42.

43.

44.

T & ¥ 999 &7 gA0USar arer gy §
(a) PIEEAT (b) TTEr
(c) HIGT (d) arer

TS 2dd YehTer EHor fRTer v fRE oW @
TR & NI U & g W affaia @ &
3G Bt § IE AW et Fgenar §

(a) gaor (b) e fague

(c) avifTr e (d) faace

fa & & Aex A 3FOT weRtia § e

UREAT e et Rufa & @) srama gfady
R&T AT

45.

46.

55Q R
SEVAVAVAVAVA -
]
<20 cm —>»

| | O O
|

(a) 13.75Q2 (b) 22002

(c) 110Q (d)55Q

T AR UH IHATOT JUSH THA § el
3| @ @ gedt (ENTROPY)

(a) &3l (b) =3l
(c) 3R W{T & (d) §& I1T UC Thdl ¢

T AfY i A AT gErT U F vE eafy
@ 3T 1 STt § (T8t A s F
mmﬁmmg@m#w
e g7 s W Pua o gar & wor & afq
T w ¥ R gER wSRia gef?

(@) T FI AT Teh gleler &7 H I1fd FHam
(b) TE A & T H R eafy H a8 &
aifa &em

(c) Tg AT A R® 3 AT (=) afa
FLT

(d) I% vw aifds gd # AT < §
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47.

48.

49.

50.

A 3kg objects has initial velocity (62 -2 j)
m/s. The toal work done on the object if its
velocity changes to (8; —-4j ) m/s is:

(a) 60J
(c)2161]

(b) 120J
(d) 44)

An incompressible non viscous fluid flows
steadily through a cylindrical pipe which has
radius 2R at point A and radius R at point B
farther along the flow direction. If the
velocity of the fluid at point A is V, its
velocity at the point B will be:

(a) 2V (b) V
(c) V/2 (d) 4V

A force F = 75N is applied on a block of mass
Skg along the fixed smooth incline as shown
in figure. Here gravitational acceleration g =
10m/s’. The acceleration of the block is:

O

30

(@5 ﬂz downwards the incline
S

(b) 5 ﬂz upwards the incline
S

(c) 10 EQ downwards the incline
S

(d) 10 ﬁz upwards the incline
s

A student’s 9.0 V, 7.5W portable radio was
left on from 9:00 P.M. until 3:00 A.M. How
much charge passed through the wires?

(a) 6000 C (b) 12000 C
(c) 18000 C (d) 24000 C

(8]

47.

48.

49.

50.

ww 3kg H awq 1 IREE A (602 ) mis.

%Iﬂﬁ'aﬁiﬁﬂ?T(S;—4j)m/s€faﬁT%a?
d% a¥q W a1 131 o F& g

(a) 60J (b) 120J
(c)2161] (d) 44)

TH HENST NI §F UF Jolah] T &
qad T & 9% @7 3] 39 o1 Y faew &
Fregfeer g A WX ardv #Y Brsar 2R ¥ aur &9
yarg i e F gy B g w0 aigy A B
R 2 @ &g B W ga@ &7 397 &1 geme?

(a) 2V b))V

(c) V72 (d)4v

& 9 F = 75N &t 5kg §e9A & sdld W
AR P Reer ad 9 & i aoman
ST ¥ Wt T SROT g = 10m/s¥ seirE
T GIoT NI

O

30

(a) 57 ae & Iafeer A 1 3R
S

m

(b) 5—
s

2

oA Tel & e FW HT 3N

() 102 @d @ & 3feer a1 91 3R
S

m

(d) 10—

& % 3feffesr I Hr 3R
wF B # 9.0V 'd 7.5W F wE AT 9:00
P.M. & 3:00 AM. a% 919 W@ § @ aR
@R fhelel Jaer varfee gam?

(a) 6000 C (b) 12000 C

(c) 18000 C (d) 24000 C
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SECTION-D
(CHEMISTRY)

51.

52,

53.

54.

5S.

56.

57.

For the reaction
250, + 0, (excess) — 2SO, the order of

reaction with respect to O, is
(a) Zero (b) One
(c) Two (d) Three

The isomerism exhibited by following
compounds [Co (NH,), ] [Cr (CN), ] and

| Cr(NH,), || Cr(CN), [is:
(a) Linkage isomerism

(b) Coordination isomerism
(c) Ionization isomerization

(d) Polymerisation isomerism

The decreasing order of electron affinity
is:

@F>ClI>Br>1
©I>Br>CI>F

(b)CI>F>Br>1
(dBr>CI>F>1

Micelles are:

(a) Gel

(b) Associated colloids
(c) Adsorbed catalyst
(d) Ideal solution

Milk is an emulsion in which:
(a) Milk fat s dispersed in water
(b) A solid is dispersed in water
(c) A gas is dispersed in water
(d) Lactose is dispersed in water

Friedel — Craft reaction is not related

with:
(a) Sulphonation (b) Nitration

(c) Acylation (d) Reduction

For a non-volatile solute:
(a) Vapour pressure of solute is zero
(b) Vapour pressure of solvent is zero

(c) Vapour pressure of solution is more than
vapour pressure of solvent

(d) All of the options

(9]

51.

52.

53.

54.

55.

56.

57.

#f@AfFT 2S0, +0, (excess) - 2SO0, &
faw 0, & wegt (wmey) & yfAfFar
R ¥

(@) = (b) T

(c) ar (d) o=t

R 2R Co(NH, ), |[Cr(CN),]
aur | Cr(NH,), || Cr(CN), |gam
FATGEAT Yl & W }-

(a) dIetElr FATGIAT

(b) 3UTEHIISTT FHTGI

() 3ITT FATTIAT

(d) qg«cﬁlehwl AT

FoTCieT JTCHIAAT (EcT) HT TeaT §I;T HH
t-

@F>CI>Br>1
) I>Br>CI>F

O CI>F>Br>1
(dBr>Cl>F>1

e &
(a) Ster (b) HEURY Flellss
(c) HMAMRT 38RF  (d) &Y erm=r

gy wF 9w ¢ oA

(a) QU T TET FT STl H IREIVT El &
(b) TF B HT SToT H IREIIUT IET ¢
(c) T T &7 ST A gReigor wEar §
(d) oFeT &7 STl & gRE0T /T &

PRa-F1ve FAfFA AT 7 @

wrafa 78t &

(a) FewIfAenoT (b) FTSEIRTOT
(c) Trafereor (d) 3T
& aregefier R{eT & o

(a) oo & aTSUEE T & §

(b) TaerIes &1 arsuere T gl g

(c) oo &1 arsuera fdemaes & arsqea &
38 g &

(d) ¥ Irv T3 fawreq TET &
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58.

59.

60.

61.

62.

63.

Which one is not the property of
crystalline solid?

(a) Isotropic
(b) Sharp melting point
(c) A definite and regular geometry

(d) High intermolecular forces

When Gringnard reagent with ketone it
yields

(a) 1° alcohol
(c) 3° alcohol

(b) 2° alcohol
(d) Ethanol

The number of ione pair(s) of electrons
on the central atom in [BrF,| ,XeF,and

[SbCI, ]3' are, respectively

(a)2,0and 1 (b)1,0and 0
(¢)2,1and 1 (d)2,1and 0

Formula of Bleaching powder is:
(a) CCI,CHO (b) CaOCl,

(c) Ca(OH), (d) CHCI,

The geometry around the central atom in
CIF; is

(a) square planar

(b) square pyramidal

(c) octahedral

(d) trigonal bipyramidal

Among the following, the equilibrium
which is NOT affected by an increase in
pressure is

(a) 280, (g)e=250,(2)+0,(g)
(b) H,(g)+1,(s)==—=2HI(g)
(c) C(s)+H,0(g)e==CO(g)+H, (g)

(d) 3Fe(s)+4H,0(g)—=Fe,0, (s)+4H, (g)

[10]

58.

59.

60.

61.

62.

63.

Flerar v frreea 3t 1 aor A 82
(a) THCRS

(b) cheor AR faeg

(c) AR vd afAa safad

(d) 3% HecRIT0ad Fof

9 Fears sffeds fea O s
FIaT & ar urea @ar & -

(@) 1° Topigd
(c) 3° Towige

(b) 2° Teplge
(d) T

[BrE, |, XeF, @ur [SbCl,|" & ¥=dra
YIATT] 9T THTHT STl JIAT T TE&AT §
HHAR:

(a) 2, 0 T 1 (b) 1,0 @0
©2, 1@l (d)2, 1 daro
selfaier uI3sT &1 qF @

(a) CC1,CHO (b) CaOCl,
(c) Ca(OH), (d) CHCl,

CIF; & 1 WA, & ari 3R sarfafa
¥

(a) T FHATAT

(b) T RafAfsT

(c) TCHADT

(d) Bl Rafatzg

T T W AT & ¥ &l 91 9w
werTfad odt ar ¥

(a) 2SO0, (g)(:)ZSOZ (g) +0, (g)
(b) H, (g)+1, (s)==2HI(g)
(c) C(s)+H,0(g)e=—=CO(g)+H,(g)

(d) 3Fe(s)+4H,0(g)e——Fe,0, (s)+4H, (g)
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64. In the manufacture of ammonia by
Haber’s process

N, (g)+3H, (g)——=2NH,(g)+92.3kJ

Which of the following condition is
unfavourable?

(a) Increasing the temperature

(b) Increasing the pressure

(c) Reducing the temperature

(d) Removing ammonia as it is formed

65. The structure of carboxylate ion id best
represented as:

O o
i ) (b) _C/\
N\O Ny
o) 0]
C/ C/
() — (d)—C,
N =
O O
66. What is pH of 2x10® molar HCI
solution?
Here log2 = 0.301 and log3 = 0.477
(@) 5.4 (b) 7.7
(c) 6.92 (d)9.5

67. When a liquid that is immiscible with
water was steam distilled at 95.2°C at a
total pressure of 99.652 KPa. The
distillate contained 1.27 gm of the liquid
per gram of water. What will be molar
mass of liquid if the vapour pressure of
water is 85.140 KPa at 95.2°C?

(a) 134.1 gm mol™
(b) 105.74 gm mol™
(c) 99.65 gm mol™
(d) 18 gm mol™

68. Which one of the following is not a unit of

energy?
(a) Nm (b) kg ms™
(c) lit-atm (d) kg m%s™

64. & A & qERT o & Faor o
N, (g)+3H, (g)c—2NH,(g) +92.3kJ
foer # & #l o o e §2
(a) 9 s&T (b) T & e

(c) a9 &r "gear

(d) 3T & FAOT & T sHFT ARerAT

65. FEffFEAT ITT Y WHAT FT G4 ST

fawaor - ~
(@) —C ’ (b) —C/O
No- No

© /7 0 (d) —CfO
—f

AN & O

66. 2x10*° AR HCI Rewst $r pH Fa1 geii?
gl log2 = 0.301 v log3 = 0.477

(a)5.4
(c) 6.92

(b) 7.7
(d)9.5

67. TF gd ol o & FPsT & o9 3mwasr
95.2°C WX a41 Fe g 99.652 KPa W
fhar a3 | Iga & S F YRS AT FAY
%a &1 1.27 gm 3ufeya | I ster &7
arsugE 95.2°C W 85.140 KPa §, ga &1
AR GSTATT FAT ERM?

(a) 134.1 gm mol™
(b) 105.74 gm mol™
() 99.65 gm mol”’
(d) 18 gm mol™

68. AFT A & Fla & o1 & FE AL T2
(a) Nm (b) kg ms™
(c) lit-atm (d) kg m’s™

[11]
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69.

70.

71.

72.

73.

74.

Cl CH;

Compound \ / has the
C=0C
7\
H C2Hs

following prefix
(@ E (b)Z
(c) trans (d) Anti

What will happen if a cell is placed into
0.4% (mass/volume) NaCl solution:-

(a) Cell will swell

(b) Cell will shrink

(c) There will be no change in cell volume
(d) Cell will dissolve

Cl CH:s
6o. 7w \._/  &fw
H 4 \CZH\
I &
(@ E (b) Z
(c) T (d) T
70. 41 QT § I vF FiRF F: 0.4%

(ereg#e / 3maaeT) NaCl Reasr & @r smar
g

(a) IR Hierd gl

(b) AT s SN

(c) HIfAST & ITAA H HIg IRATT AT
g

(d) T e gy el

SECTION-E

(MATHEMATICS)

What is the mean of the squares of the
first 20 natural numbers?

(a) 151.5 (b) 143.5

(c) 65 (d)72

A box contains 3 white and 2 black balls.
Two balls are drawn at random one after
the other. If the balls are not replaced,

what is the probability that both the balls
are black?

(a) 2/5
(c) 1/10

(b) 1/5
(d) None of the above

For two variables x and y the two
regression coefficient are b, =-3/2and
b, =—1/6. The correlation coefiicient
between x and y is:

(a)-1/4 (b) Y4

(c)-172 (d) 2

The sum of an ifinite GP is x and the
common ratio r is such that |r| < 1. If the

first term of the GP is 2, then which one of

the following is correct?
(a) -1<x<1 (b) o< x<1

(¢) 1<x<w (d) None of the above

71. 9UH 20 ol FEATH F F@l FT AT FAT

e?
(a) 151.5 (b) 143.5
(c) 65 (d) 72

72.U% 0 # 3 ¥he 3R 2 Freh AT @ @y AT
TRoFcr tF & dC T fAwrer e 3

Ifg et & Freh g i TRwar Far 372
(a) 2/5 (b) 1/5
(c) 1710 (d) 39T # q HIS 76T

73. & = x 3R y & A & wAE qunE
b,=-3/23R b, =-1/6.3 x 3Ry &
(a) -1/4 (b) Ya
(c)-172 (d) Y2

74. TF Ieid GP A IThA x § AR AEIEEE
r¥a|r g @ |r| <1 8 IRGP #1 yuyH ug 2
g, o Pfof@a & 4 &9 a1 v a8 82
(a) -1<x<l1 (b) —o<x<1

(d) 39T # § HIS G

(¢) I<x<w
[12]
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75. The cumulative frequency of the largest

76.

77.

78.

79.

80.

observed value must always be:
(a) Less than the total number of observation

(b) Greater than the total number of
observation

(c) Equal to total number of observation

(d) Equal to mid-point of the last class
interval

pPs q, I', S, t are numbers such that the
average of p, q and r is 5 and that of s and
t is 10. What is the average of all the five
numbers?

(a) 7.75
()7

(b)7.5
(O]

It has been found that if A and B play a
game 12 times, A wins 6 times, B wins 4
times and they draw twice. A and B take
part in a series of 3 games. The
probability that they win alternately, is:

(a) 5/12 (b) 5/36
(c) 19727 (d) 5/27

How many different words can be formed
by taking four letters out of the letters of
the word ‘AGAIN’ if each word has to
start with A?
(a) 6

(c) 24

(b) 12
(d) None of the above

Out of 7 constant and 4 vowels, words are
to be formed by involving 3 constants and
2 vowels. The number of such words
formed is:

(a) 25200 (b) 22500
(c) 10080 (d) 5040
X

What is lim ——— equal to?

>0 /1 —cos x a
(a) \2 (b) 2

1
(c) —= (d) Limit does not exist
J2

[13]

75.

76.

77.

78.

79.

80.

sedd YT A 1 ToA IRERAr §dT F4T
gt anfge?

(a) G&TUTr T For TEAT § HA

(b) YeTuTr hr For TEAT F IS

(c) JeTult &1 Fel HEIT & SIS

(d) 3HTaH 97 AT & FEATAG & TR

99 &AW p, q, 1,5, t & 39 9FR & p, q
it r @1 3itwa 5 &, 3iF s skt sitwa 10
2| woft uiaY weanst #1 sitwa Fr §2

(a) 7.75 (b) 7.5

(©)7 (d)5

IRAINRBFE AT 12 IR Wead &, @ T®
urar ST § fF A, 6 9 sfiaar ¥, B, 4 9R
shaar # 3k @ IR afAoffa wa &) A 3k
B, 3 @a A sj@er # fFwr AQ B 3%
T-ar ¥ shaa A wlRwar = 27

(a) 5/12 (b) 5/36

(c) 19/27 (d) 5/27

g ‘AGAIN’ & 38T & & 4 IR aT
fraer RAffesr eg s=Te o1 " €, IR
TAF g A ¥ IR 817

(a) 6 (b) 12

(c) 24 (d) 3UgFT & & HIS G

7 gl 3T 4 TR A @ 3 sgoral AR 2
T B RAAHT g T B 39 UFR a9
ArsGl Y TEAT FAT 87

(a) 25200 (b) 22500

(c) 10080 (d) 5040
lim———— oy e &7

=0 [1—cos x LA

(2) \2 (b) —2

(c) % (d) T#T T AT AT &
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81. From an aeroplane above a straight road
the angles of depression of two positions at
a distance 20m apart on the road are
observed to be 30° and 45°. The height of
the aeroplane above the ground is:

(a) 1043 m (b) 10(\/5—1) m
() 10(J§+1) (d) 20m

1+sinA 1-sinA
1-sinA  1+sinA
(a) sec A-tan A

(b) 2sec A.tan A

(c) 4sec A.tan A

(d) 4cosec A.cot A

82. What is equal to?

What is j. "

0

83.

e equal to?
+x

(a) e% -1 (b) ei +1
(c)e—1 (de

84. What is the slope of the tangent to the

curve y=sin"’ (sin2 x) atx=10?

(a)0 (b) 1
()2 (d) none of the above

85. Itis given that the events A and B are

such thatp(A) =%,P(%j = %andP(%) =§.

Then P (B) is

1 1
(a) g (b) 5
2 1
(© g (d) 5

86. The first two terms of a geometric
progression add upto 12. The sum of the
third and the fourth terms is 48. If the
terms of the geometric progression are
alternately positive and negative, then the

first term is
(a)—4
(c) 12

(b)—12
(d) 4

[14]

81.

82.

83.

84.

85.

86.

TH @t 5§ & I TH gars e § 39
WSH 9 20m YUF & TAEI & HITHAA HIT
30° 3T 45° 9ferT R I @ ST F FE
§ATS SETS 1 FATS FAT 82

(a) 1043 m (b) 10(J§—1)m
(©) 10(\/§+1) (d) 20m

1+sinA 1-sinA

- fFad ToT &7
1-sinA 1+sinA >

(a) sec A-tan A

(b) 2sec A.tan A
(c) 4sec A.tan A
(d) 4cosec A.cot A

1 tan'x
¢ fxﬁmﬂ;gw%?
0 1+x
(a) e* —1 (b) e* +1
(c)e—1 (de

X =09 I y=sin’l(sin2 x)a? waeft &

YaurdT F4T 87
(@) 0 (b) 1
(c)2 (d) 39T H § IS 76T

A USATT A T B 5 YR § T

P(A):%,P[%j:%andP(§j=§ a9 P(B)
FT AT T
1 1
- b) =
(a) p (b) 3
2 1
(©) g (d) E

oitea’ Aot & gUH &Y ga&l F1 Fr 12 g
ey Tur 9iY g FT Arwa 48 B IR
Toice AN &F e FA H gaTcHs qur
HOMCHF ¢, a9 TUH 95 ¥

(a)—4 (b)— 12

(©) 12 (d) 4
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87.

88.

89.

90.

AB is a vertical pole with B at the ground
level and A at the top. A man finds that
the angle of elevation of the point A from
a certain point C on the ground is 60°. He
moves away from the pole along the line
BC to a point D such that CD = 7m. From
D, the angle of elevation of the point A is
45°. Then the height of the pole is:

73 .
2(\/5—1)
TN
2B (G-t

%(\E’lﬂjm

Let a, b, ¢ be any real numbers. Suppose
that there are real numbers x, y, z not all
zero such that x = cy + bz, y = az + cx and

(a)

(b)

©

(d)

z=bx + ay

Then a” +b> +c” +2abc is equal to
(a)2 (b)-1

©0 (d) 1

How many different words can be
formed by jumbling the letters in the
word MISSISSIPPI in which no two S
are adjacent?

(a) 8.°C,. 'C,
(b) 6.7. °C,
(c) 6.8.'C,
d) 6. °C, °C,

A die is thrown. Let A be the events that
the number onbtained is greater than 3,
Let B be the event that the number

obtained is less than 5. Then, P(A UB)is

3

a) — b) 0
(a) 5 (b)

2
1 z
(©) (d) s

[15]

87. AB TF 3taltR ¥ew § fSwd B 3muR Reg

88.

89.

90.

aur A o 3| v afea gar & & 3mar
W Pyd v fAfRad fieg C & ofid A &1
3eeTasT FIT 60° B| a8 =afda @1 BC &
e FTaFH ¥ g g D aF 30 9N
St § FrCD =7m & feg A T Fowraet
FIT 45° B a9 TN P FAE B

AWT a, b, ¢ S TFAAF FEIT | AT
IFAfIF HEAT X, y, z (T T 761 §) 39
YPR § A x=cy+bz,y=az+cxaur z=
bx + ay, d9a’ +b*> +c> +2abc FT AT 272
(a) 2 (b)-1

(©)0 (d)1

ersg MISSISSIPPI & 3reri Y gof: Tuifa
& fraa ereg FaTC o1 wEa ¢, o w1
ar S geed B2

(a) 8.°C,. 'C,

(b) 6.7. °C,

(c) 6.8.'C,

@ 6. °c, *C,

T i1 HepT ST §] AT A, 3 ¥ 3w
TEAT T FrueAT g 94T B, 5 ¥ A
HEIT yIed & &7 e & a9, P(AL ) B)
FT AT &

3
(a) 5 (b) 0

2
1 z
(c) (d) 5

48



Rough Work
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1.

Which one of the following is the correct
electronic configuration of chlorine?

(@)2,7,8 (b)2,8,7
(c)2,8,8 (d)7,8,2

The number of valence electrons in the O
ion is:
(a) 4
(c)8

(b) 6
(d) 10

In honey, which one among the following
sugars predominates?

(b) Fructose
(d) Maltose

(a) Surcose

(c) Galactose

Within an animal cell, the most abunadant
inorganic constituent of protoplasm is:

(a) Sodium and Potassium salt
(b) Water

(c) Iron

(d) Phosphate

During short-circuiting, the current flowing
in the electrical circuit

(a) Reduces substantially
(b) Does not change
(c) Increases instantaneously

(d) Vareis continuously

Two conducting wires A and B are made of
same matrial. If the length of B is twice that
of A and the radius of circular cross-section
of A is twice that of B, then their
resistanece R, and Ry are in the ratio:

(@2:1 (b)1:2
(c)1:8 d1:4

The number of aluminium ions present in
54 g of aluminium (atomic weight 27) is:

(a2 (b) 18
(c) 1.1x10%* (d) 1.2x10*

(2]

1.

SECTION-A
(MENTAL ABILITY)

ffaf@a & ¥ Fia-ar v Fakia F1 @
saTeiae A §?
(@)2,7,8
(©2,8,8

O% 3yl & WASHAT SolaerEl i FE&AT
ot &

(a) 4 (b)6

()8 (d) 10

wes A famafaf@a & & i @ aw gqw
g2

(a) ghre
(c) etererd

(b)2,8,7
(d)7,8,2

(b) e
(d) HATecrH

freY yroft FIRAFT F e Aagex & Faifw
agﬁméﬁﬁﬁmﬁam%?

(a) AT 3R ArefRAge orqor
(b) STet

(c) =T

(d) BrEhe

g F SR Rya aRoy & garfea @
qrell ¥RT

(a) FTHY TT AT &

(b) =T8T Seerdlr

(c) dcdhlel FadT g

(d) SPMAR SeordT &

&Y Trele a) A 3 B WA qare & T
afg B A oS A Y aFar$ @ QT § A
A & g ey s 1 Bsar & e
%,?ﬂ'mmRAWRBmm#
87
(a)2:1
(c)1:8

(b)y1:2
d1:4

54 g vfafags (@) AR 27) # A
T 3t fr wEdr F74r §e

(a) 2 (b) 18

(c) 1.1x10* (d) 1.2x10*
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10.

11.

12.

13.

14.

15.

The latest discovered state of matter is:
(a) Solid
(b) Bose-Einstein condensate

(c) Plasma (d) Liquid

What is ‘breakbone fever’ most commonly
known as?

(a) Typhoid
(c) Yellow Fever

(b) Rhinitis
(d) Dengue

After diagnosis of disease in a person, the
doctor advises the patient iron and folic

acid tablets. The person is suffering from
(a) Osteoporosis (b) Anaemia
(c) Goitre

(d) Protein energy mainutrition

Which one among the following is the coral
group of islands of India?

(b) Nicobar
(d) Lakshadweep

(a) Andaman

(c) Minicoy

Van de Graaf generator is used for
(a) Accelerating charged particles
(b) Generatig large currents

(c) Generating electric field

(d) Generating high frequency voltage

The most stable form of carbon is:
(b) Graphite
(d) Coal

(a) Diamond
(c) Fullerent

Which one among the following is not a
sexually transmitted disease?

(a) Syphills (b) Gonorrhea
(c) Scurvey (d) Hepatitis-B

The summer and winter season in a year
are caused by

(a) Aphelion (farthest) and perihelion (nearest)
postion of the Earth from the Sun during
the annual revolution

(b) Rotation of the earth on its axis
(c) Variation in solar insolation

(d) Revolution of the Earth on its inclined axis

10.

11.

12.

13.

14.

15.

3]

e} & Al @t Tl sraedr - 22
(a) 3 (b) SH-3MSEET Ferelt
(c) ToIrEAT (d) aa

‘T33NdIE A H AT FIT Fgd 87

(a) AeaoaR (b) ATaT-Y
(c) didsR (d) 5

et cafda & Wr & @ee F
Rffcas Wt A g g wifew 3F7a
fefFar ot & weg da1 § | sl fhw Wr
¥ s 32
(a) ITEugRar
(c) TS

(b) 3EFAT
(d) W& 3T FHuwor

AfRf@a & O &7 91 & 9RT FT Y@

cdIT-|eg 87
(a) AT (b) TR
(c) fairr (d) SreTedT

T 2 A% FAAT FT 39ANT FAT SAET §

(a) 3MAfAT HON F caRad = & T
(b) afgd &RT SteT & T

(c) Ay & Siefel & fau

(d) 3=-3mgfd dleedr Siafel & faw

F FT FatEs Tarh 77 PlA-ar 2

(a) &R (b) 15T

(c) El;_oiﬂ?r (d) T

frfafad & ¥ F-a & ale-saRa T
Te1 82

(a) Tafsfora (b) IM=AR=T

(c) =t (d) FeTsiew-ar

a¥ & o qur T wgIt F N FT FROT
FT 87

(a) aTi¥e aRemeor 7 gedt 1 ¥F @ W 399
(&ZaH) Tur - (@HTTH)

(b) gt T 9o 38T 9 EOTT

(c) &R 3maust & aRada

(d) g & 39 JTAT37ET I IRHHOT

52



SECTION-B
(ENGLISH)

16.

17.

18.

19.

20.

21.

22,

23.

24.

Choose the correct synonym of the given
word from the option given below.
DEPOSITION
(a) Ascent

(c) Impeachment

(b) Employment
(d) Coronation

Choose the best antonym of the given word
from the options given below.

EQUIVALENT
(a) Comparable (b) Dissimilar
(c) Parallel (d) Identical

Choose the best antonym of the given word
from the options given below
CONTROVERSY

(a) Argument (b) Difference

(c) Agreement (d) Quarrel

Choose the MISSPELT word.
(a) Preservence (b) Possession
(c) Reference (d) Restarant

Choose tge MISSPELT word.
(a) Abundance (b) Absence
(c) Acclaim (d) Advertisement

Complete the sentence with the most
appropriate word. Students are not
expected to leave without .
(a) Tolerance (b) Indulgence
(c) Permission (d) Freedom

Complete the sentence with the most

appropriate word. I always arrive to class
twenty minutes ____sothatI have
time to prepare.

(a) Late (b) Early

(c) Later (b) Behind time

Complete the sentence with the most
appropriate word. Making pies and cakes
Mrs. Kumar’s specially

(b) Is

(d) Are being

(a) Have
(c) Has

The following sentence is divided into four
parts (P, Q, R and S). Rearrange it in the
proper sequence in order to make a
meaningful sentence. (P) or car racing tests
(Q) And a car’s power (R) Automobile
racing (S) Both a driver’s skill

(a) RPSQ (b) QPSR

(c) RSPQ (d) SQPR

25.

26.

27.

28.

29.

30.

(4]

The following sentence is divided into four
parts (P, Q, R and S). Rearrnage it in the
proper sequence in order to make a
meaningful sentence (P) That is closely
related to the peach tree (Q) Almonds are
commonly called nuts (R) But they are
actually seeds (S) And they come from a
tree

(a) RPSQ
(c) SQPR

(b) QRSP
(d) SQPS

Choose from the four options, the word
that best defines/substitues the given
phrase. “A place where ships load and

upload goods”
(a) Port (b) Terminal
(c) Coach (d) Hangar

Choose from the four options, the word
that best defines/substitues the given
phrase. “The scientific study of the mind”
(a) Philology (b) Psychology

(c) Sociology (d) Anthropology

Choose from the four options, the word
that best defines/substitues the given
phrase. “A person or animal that eats all
kinds of food”
(a) Omnivorous
(c) Insectivorous

(b) Herbivorous
(d) Carnivorous

In the following question, some part of the
sentence may have errors. Find out which
part of the sentence has an error and select
the appropriate option. If a sentence is free
from error, select 'No Error'.

Soon as he(A)/saw the policeman,(B)/ he
ran away.(C)/No error(D) Option

(@) A (b)B

©C (d)D

Rearrange the parts of the sentence in
correct order.

We are told that its

P-Public Distribution System
Q-creating a functional

R-sole purpose is the noble goal of

(a) QRP (b) RQP

(c) PRQ (d) PQR
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SECTION-C
(APITITUDE TEST)

31.

32.

33.

34.

3s.

36.

37.

In a flash type ADC, employing 15
comparators resolution with 10 volts
reference, is expected to be:

(a) 0.625 V (b) 0.666 V
(c)0.525V

(d) Insufficient data

A noiseless 3 kHz channel can transmit
binary at the rate
(a) 12000 bps

(c) 6000 bps

(b) 10000 bps
(d) 3000 bps

A program component that allows
structuring of a program in an unsual way
is known as

(a) Correlation

(c) Diagonalozation

(b) Coroutine
(d) Queue

Before a disk drive can access any sector
record, a computer program has to provide
the record’s disk address. What
information does this address specify?

(a) Track number

(b) Sector number

(c) Surface number

(d) All of the above

EBCDIC can code up to how many
different characters?
(a) 8

(c) 64

(b) 16
(d) 256

The two main components of the CPU are:
(a) Control unit and registers

(b) Control unit and ALU

(c) Registers and main memory

(d) ALU and bus

The graphs of the two equations

y =ax’ +bx+candy = Ax’ +Bx+C, such
that a and A have different signs and that
the quantities 5> —4ac and B> —4AC are
both negatives.

(a) Intersect at two points

(b) Intersect at one point

(c) Do not intersect
(d) None of the above

(5]

31.

32.

33.

34.

35.

36.

37.

Foler Y & ADC &, 10 alee Ader & @iy
15 JoRe e Aged # @ gaar
e afaT @
(a) 0.625 V
(c)0.525V

(b) 0.666 V
(d) 3T9ATeT Ser

tafRfgd S kHz 9l __ 3all @ &
AEAY AYUT FIT FhdT B
(a) 12000 bps

(c) 6000 bps

TH NIH geF Sl FAHAT AR T AT FHY
TIGAT A AT &, 3/ Fed ¥

(a) HgHeH (b) recrT
(OREEGH (d) ufea

s 3% gza R a9 RaiE & v &
T T @, F NaA e B
T &1 AIRT | I§ 9T FAT ATHAHRY T §72
(a) ¥ G (b) Ve TEAT
(c) $cTel TLaT

(d) 30R0ad # & T

(b) 10000 bps
(d) 3000 bps

EBCDIC frdar faffie qudisr & #iz fre
ST Fha §7?

(2) 8 (b) 16

(c) 64 (d) 256

CPU & aI J&Y U<H ¢

(a) faTaor T 3R IToER
(b) TT=oT T 3R ALU
(c) IoreeT 3R #ET wfa
(d) ALU 3R sd

&Y AT y =ax’ +bx+c 3R
y=AX’+Bx+C%& a1, fwd a 3R A &
Reg Bt b —dac 3R B” —4AC vt 3k
TafRkT ¥

(a) ar g3 W yfdese =Xd &

(b) Tw fig W gfaese axd &

(c) yfd=dq FEI A &

(d) 3RIFT H T FS 7
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38.

39.

40.

41.

42.

43.

44.

45.

If f(x) is an odd function, then |f(x)| is
(a) an odd function

(b) an even function

(¢) neither odd nor even

(d) even and odd

Materials for rain-proof coats and tents
owe their water-proof properties to

(a) surface tension (b) viscosity
(c) specific gravity (d) elasticity

The period of [sin(3x))| is
()27 (b)27/3
(c) /3 d3x

Magnetism at the centerof a bar magnet is:
(a) Minimum (b) Maximum

(c) Zero

(d) Minimum or Maximum

Light year is a unit of
(a) Time
(c) Light

(b) Distance
(d) intensity of light

If the speed of the DC generator is
increased, the generated emf will:

(a) Increase (b) Decrease
(c) Remain constant
(d) Decreases and then increases

The rotor of the alternator requires
(a) DC (b) AC

(c) Pulsating DC

(d) None of the above

It is more difficult to walk on the beach
than on concerete road because

(a) Sand is soft and concrete is hard

(b) Friction between sand and feet is less than
that between concerte and feet

(c) Friction between sand and feet is more than
that between concrete and feet

(d) Sand is grainy but concrete is smooth

(6]

38.

39.

40.

41.

42,

43.

44,

45,

I f(x) UF RAYH Bt §, ar [f(x)| &
(a) Tava HereT (b) §H Helel
(c) Taww ofr 71ET 3R TF ofr =g

(d) &7 3R faww

aviHg FIC AR aF F AT F awiwg qoTeH
FAF FROT T &

(a) TG dod (b) AT
(c) faferse e (d) JeIrEr
sin(3x)| FT TadHI §

(a)2r (b)27/3
(c) /3 (d)3r

43 TFaF & Feq A oUd gFawed g §
(a) ~geTdH (b) 3HT&HRIA
(c) T

(d) sgeTaH 3ar Jfeehdd

YIS ¥ SHHT AR &

(a) §7T (b) 3R

(c) JhTem (d) gerer Fr drgar
Iy DC FT9 F) AT qe§ AT, df ST Fr
EMF

(a) eI (b) Team

(c) TR wgam

(d) g3 3R 3T qIE T

Heeel ¥ VT FT SHST ATGITFaT gt &
(@) DC (b) AC
(c) TecaTeT DC

(d) 3RFT & T FIS 78T

FhIe TET AT 4T TG ¢ W AN AH

Hfsa giar 8, FROT:

(a) ¥ Hg &I § 3R hshic HoR giem &

(b) YT 3R R & T T =TT Fehre 3R R
& 9T F g¥0T A A glaT §

(c) ¥ 3 R & T 1 g9ur Fhe IR Ry
& a7 & °y¥or § S gar §

(d) YT EeER &Idr g, oifehed ashic IshaT g
J
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46.

47.

48.

49.

50.

51.

52,

53.

If DC supply is given to a transformer, it
will:

(a) Work

(b) Not work

(c) Give lower voltage than the rated voltage
on secondary side

(d) Burn the winding

Synchronous motor generally has:
(a) Cyllindrical rotor

(b) Salient pole rotor

(c) Both (a) and (b) are correct

(d) None of these

The most commonly used bleaching agent
is:

(a) Alcohol
(c) Chlorine

(b) Carbon dioxide
(d) Sodium chloride

The octane of zero is assigned to:
(a) 2-methyl octane (b) n-heptane
(c) Iso-octane (d) 3-methyl octane

The DPT vaccine, a mixture of three
vaccine is given for immunization of three
medical conditions:

(a) Diptheria, Pneumonia, Tuberculosis
(b) Diptheria, Pertusis, Tetanus

(c) Diarrhoea, Pertusis Tuberculosis
(d) Diptheria, Pneumonia, Tetanus

Refrigeration is a process in which
(a) Bacteria are destroyed

(b) Growth of bacteria is reduced

(c) Bacteria become inactive

(d) Cytoplasm of bacteria contract

BOD is:

(a) Biological oxygen deficit
(b) Biological oxygen demand
(c) Biosphere oxygen demand
(d) None of the above

Composition of HSS tools can be:
(a) 18% W, 4% Cr, 1% V

(b) 4% W, 18%Cr, 1% V

() 1% W, 4% Cr, 18% V

(d) 10% W, 10% Cr, 10% V

(7]

46.

47.

48.

49.

50.

51.

52.

53.

afg T=awAT F DC EROT fvaT I, at ag

(a) HTH HIM

(b) 1A FET Y

(c) FloT 9&T & HeJA dleedr T I9&T HA
ateedr &aT &

(d) HSelel STl &

qeaFifas AT # AT T 8

(a) deATRR A

(b) & P ¢F AT

(c) (a) 3R (b) &t e &

(d) 3T & FIS FAET

g W 3T H Aearen e wRE ¢
(a) VTPIBIT (b) FTEA SSIHTFATSS
(c) FeIRiA (d) AIf3TH FaRES

T A AR HEw suS fAfdse Fa @
(a) 2-fAamger oA (b) n — g
(c) 3MSHN- Jifereet (d) 3- s 3ifE

e 3t 1 Fsor DPT i &1 i
RfFcar aRkftufaat & yfaweheor & oo
= ST %‘:

(a) fechiRan, =gAf=ar, gear

(b) feeiiRam, et @i, erefeaser

(c) AR, FHert T, T&AT

(d) feehRar, =gafaar, eeqeaeser

wefidsT v g % S

(a) SFERAT T AT fFAT FTAT B

(b) dFERT & i wA H T B

(c) YFERTT AR Tl §

(d) SFIRT T WZATATH FEHAT grar &
BOD &:

(a) IATNTSIRer 3ifareieteT 3fFdE
(VERIGIECTEGICR ORI

(c) SRTREHIR eIt f3AS

(d) 3RFT F T FIS G

HSS 3Rt &1 gAee 5§ @@ & FFar

A

(@) 18% W, 4% Cr, 1% V
() 4% W, 18%Cr, 1% V
(c)1% W, 4% Cr, 18% V
(d) 10% W, 10% Cr, 10% V
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54.

5S.

56.

57.

58.

59.

Cast alloys known as Stellites are
(a) Non-ferrous alloys

(b) High carbon alloys

(c) High tungsten alloys

(d) High chromium alloys

Use of cutting fluid during metal cutting is
desired to

(a) Reduce the rigidity of chips

(b) Reduce the coefficient of friction between
chip and tool

(c) Reduce the temperature rise due to cutting
(d) Reduce the cutting velocity

Cutting velocity is:

(a) Velocity of the tool relative to the work
(b) Velcoity of the chip relative to the tool
(c) Velocity of the chip relative to workplace
(d) Not related to the effective cutting speed

The mechanical comparator can be used to
measure the

(a) External diameter
(c) Angular dimension

(b) Internal diameter
(d) All of these

An advantage of permanent magnet moving
coil instrument is that it is

(a) free from friction errors

(b) has high (torque/weight of moving parts)
ratio

(c) has low (torque/weight of moving parts)
ratio

(d) None of these

Which of the following materials is used in
the fabrication of swamping resistance of a
PMMC instrument?

(a) Copper

(b) Aluminium
(c) Manganin
(d) Tungsten

(8]
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60.

61.

62.

63.

64.

65.

66.

The forces which meet at one point and
have their lines of action in different planes
are called

(a) Coplanar non-con-current forces
(b) non-coplanar con-current forces
(c) non-coplanar non-current forces

(d) intersecting forces

The locus of the instantaneous centre of a
moving rigid body is:
(a) Straight line

(c) Centroid

(b) Involute
(d) Spiral

A projectile is thrown at an angle a to the
horizontal with a velocity v. It will have the
maximum centripetal acceleration

(a) at the start

(b) at the top of the trajectory

(c) as it strikes the ground

(d) elsewhere

The total time of collision and restitution of
two bodies, is called

(a) time of collision

(b) period of collision

(c) period of impact

(d) all of the above

A string of length 90 cm is fastened to two
points A and B at the same level 60 cm
apart. A ring weighing 120 g is slided on the
string. A horizontal force P is applied to the
ring such that it is in equilibruium
vertically below B. the valueof P is:

(2)40 g (b) 60 g

(©)80¢g (d) 100 g

A pilot flies a small plane in a vertical loop
of radius r. At the top of its trajectory he
expeinces weightlessness. If the acceleration
due to gravity is g, the speed of the plane at
the top of its trajectory would be

(a) Zero (b) Infinite
(c) gr (d)2 gr
20% of 2 is equal to

(a) 20 (b)4
(c)0.4 (d) 0.04
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67.

68.

69.

70.

71.

72.

73.

74.

75.

A sum of money at simple interest amounts
to Rs 2240 in 2 years and to Rs 2600 in 5
years. What is the principal amount?

(a) 1000 (b) 1500

(c) 2000 (d) 2500

The view toolbar will position the view of
the 3-D solid towards the

(a) Front (b) Left side

(c) SE isometric (d) All of these

In pneumatic comparators the air used is at
(a) Atmospheric pressure

(b) Above atmospheric pressure

(c) Negative pressure

(d) Below atmospheric pressure

In Ultrasonic machining the tool is vibrated
between the frequencies of:

(a) 1 and 5 kHz (b) 5 and 10 kHz

(c) 10 and 15 kHz

(d) 15 kHz and higher

The circumfrences of two circles are in the
ratio 4:5 what is the ratio of the areas of
these circles?

(@4:5 (b) 16: 25

(c) 64 : 125 (d)8:10

A line with a tapering width can be easily
created by using the tool.
(a) Circle (b) ellipse

(c) Line (d) Polyline

In order to set drawing limits for a “C” size
architectural drawing the drafter should set
the limits to
(@)0,0and 2,9
(¢)0,0and 18, 24

(b)0,0and 17, 11
(d) 0, 0 and 34, 24

cannot sustain much voltage
fluctuations
(a) Sodium vapour lamp
(b) Mercury vapour lamp
(c) Incandescent lamp
(d) Fluorescent lamp

Permittivity of free space is equal to
(a) 8.854x10”F/m (b) 8.84x10"°F/m
(c) 9x10”F/m (d) 1 F/m

[10]
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76.

77.

78.

79.

80.

81.

82.

Which of the following statements
regarding single-phase induction motor is
correct?

(a) It requires only one winding

(b) It can rotate in one direction only

(c) It is self starting

(d) It is not self starting

In a delta network each elements has value
R. The value of each element in equivalent
star network wil be equal to

(a) R/6 (b) R/4

(c)R/2 (d)R/3

In single phase rotary converter the number
of slip rings will be:
(a) Two
(c) Four

(b) Three
(d) Six

If the fault current is 2000 A, the relay
setting is 50% and CT ratio is 400 : 5, then
plug setting multiplier will be:

(a)10 A (b)15A

()25 A (d) 50 A

A rectangular waveguide in dominant TE
mode, has dimensions 10x15 cm, the cut off
frequency is
(a) 10 GHz
(c) 15 GHz

(b) 1 GHz
(d) 25 GHz

What is the name of the fluroscent material
that gives red colour fluroscent?

(a) Zinc silicate

(b) Calcium silicate

(¢) Zinc sulphide

(d) Magnesium silicate

A 100 W bulb is concered in series with a
room heater. If now 100 W bulb is replaced
by a 40W bulb, the heater output will

(a) Decrease (b) Increase

(c¢) Remain the same (d) unjustified

[11]
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83.

84.

8s.

86.

87.

88.

89.

90.

Absorption of ink by blotting paper
involves

(a) Viscosity of ink

(b) Capillary action phenomenon

(c) Diffusion of ink through blotting
(d) Siphon action

In electronics the terms IC denoted

(a) Industrial control

(b) Integrated circuit

(c) Internal combustion
(d) Integrated conductance

The forbidden energy gap in
semiconductor:

(a) Lies just below the valence band

(b) Is the same as the valence band

(c) Lies just above the conduction band

(d) Lies between valence band and conduction
band

A zener diode has a

(a) High forward voltage rating

(b) Negative resistance

(c) High amplification

(d) Sharp breakdown voltage at low reverse
voltage

Dynamometer type instrument may be used

on:
(a) AC only (b) DC only
(c) both AC and DC (d) none of these

Electromotive force (emf) of voltage source is
called as:

(a) Terminal voltage when load is applied

(b) Internal voltage when no load is applied

(c) Product of internal resistance and load
current

(d) Electric pressure provided to the load

The Condition in Ohm’s law is that

(a) The temperature should remain constant
(b) The ratio of V/I should be constant

(c) The temperature should vary

(d) Current should be proportional to voltage

A series circuit has R = 102, L =0.01 H and
C = 10uF . The Q-factor is:

(a) 100 (b) 10

(c) 115 (d) 10.1

[12]
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